8.1 SOLUTIONS

CHAPTER EIGHT
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Solutions for Section 8.1

Exercises

1. Each strip is a rectangle of length 3 and width A, so

Areaof strip = 3Az, so

h

=15.

5
Areca of region = / 3dr =3z
0 o

Check: This area can also be computed using Length x Width =5-3 = 15.

2. Using similar triangles, the height, y, of the strip is given by

y_=z =7t
37¢ ¥ YTy
Thus. r
Area of sinip = yAr = 5.«31,
)
®r 2[°
Arca of region = —dr=—=| =9.
; o 2 1
0

Check: This area can also be computed using the formula 1 Basc - Height = 1 -6-3=9.
3. By similar triangles, if w is the length of the strip at height h, we have

-I-l—’=5th S0 w=3(1—£}-).
3 5 5

Thus,

Area of strip = wdAh =3 (1 - ’;’) Ah.
i

5 2y |5 .
Area of region = 3 (l - l—l) dh = {3l - ?ﬁ_ = l_o
o 5 10 2
. 0
Check: This area can also be computed using the formula % Base - Height = % -3-3= %“

4. Suppose the length of the strip shown is w. Then the Pythagorean theorem gives

h2+(%)~=3"’ s0  w=2y32-hZ
Thus

Arca of strip = wdAh = 24/3% — R2AR,

3
/ 2y/32 — h2 dh.
-3

3

Arca of region

Using VI-30 in the Table of Integrals, we have
Area = (”‘\/ﬂ + 3% arcsin (%’))

Check: This arca can also be computed using the formula 7r* = 97.

= 9(arcsin 1 — arcsin(—1)) = 9=.
-3
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5. The strip has width Ay, so the variable of integration is . The length of the strip is z. Since £ + y? = 10 and the region
is in the first quadrant. solving for r gives z = /10 — y2. Thus

Area of strip = zAy = /10 — y2 dy.

The region stretches from y = 010 y = V10, so

V1o
Area of region = / V10 -y dy.

0
Evaluating using VI-30 from the Table of Integrals, we have

1 . y
Area = = [ y4/10 — y2 + 10 arcsin [ —=
2 ( Y (»’1_6)>

Check: This area can also be computed using the formula {7r? = 17(V10)* = $7.

vio
= 5(arcsin 1 — arcsin0) =

w.

N o

0

6. The strip has width Ay, so the variable of integration is y. The length of the strip is 2z for z > 0. For positive , we have
z = y. Thus,
Arca of strip = 22Ay = 2yAy.
Since the region extends fromy = 0to y = 4,
4

= 16.

1
Area of region = / 2ydy = y°
JO )

Check: The area of the region can be computed by 3 Base - Height = $-8-4=16.
7. The width of the strip is Ay. so the variable of integration is y. Since the graphs arc ¢ = y and = = >, the length of the
strip is y — y*. and
Area of strip = (y — y°)Ay.
The curves cross at the points (0,0) and (1, 1), so
27

S}
Area of region =/ (y-v)dy=2 - 2| = _1.
o 2 3], ©

o0
by

The width of the strip is A, so the variable of integration is z. The line has equation y = 6 — 3z. The length of the strip
is6— 3z — (22 —4) = 10 — 3z — 7. (Since x° — 4 is negative where the graph is below the z-axis, subtracting £° — 4
there adds the length below the r-axis.) Thus

Area of strip = (10 - 3r — x¥)Ar.
Both graphs cross the z-axis where z = 2, so

2 32
Area of region = / (10 = 3z — z%)dr = 10z — §1‘2 -I| = 3—4
A 2 7T, T3

9. Each slice is a circular disk with radius r = 2 cm.
Volume of disk = 7r°Ar = 4z Az em®.
Summing over all disks, we have
Total volume =~ z 47 Az cm®.

Taking a limit as Az — 0. we get

9
Total volume = lim 247-';31 =/ i dz cm®.
0

Ar—0

Evaluating gives
9
= 367 cm®.
0

Check: The volume of the cylinder can also be calculated using the formula V' = 7r2h = 722 . 9 = 367 cm®.

Total volume = 4xx
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10. Each slice is a circular disk. Since the radius of the cone is 2 cm and the length is 6 cm, the radius is one-third of the
distance from the vertex. Thus, the radius at z is r = z/3 cm. See Figure 8.1.

2
Volume of slice = 7r’Az = %‘AI cm
Summing over all disks, we have
2
~ z 3
Total volume = Z 3 Az cm”.
Taking a limit as Ar — 0, we get
z? S 2
Total volume = i r—Az= [ a—dzcem’.
otal volume M_’OZ T /0 g dxem
Evaluating, we get
316 3
Tr 7 8 3
Total volume = - —| === =87« .
93|, 93 o
Check: The volume of the cone can also be calculated using the formula V = 1zr?h = 172* .6 = 87 cm®.

6em

Figure 8.1
11. Each slice is a circular disk. From Figure 8.2, we see that the radius at height y is r = %y cm. Thus
N 2 2 : 4 2. 3
Volume of disk = nr"Ay==w gy Ay = _2—_1ry Aycem®.
3
Summing over all disks, we have
i 2\ 3
Total volume = Z 25Y Ayem”.
Taking the limitas Ay — 0, we get

5
Total volume = .31:,130 ;—j‘;yg;\y = /O ;—gy"’dy cm®.
Evaluating gives ,
Total volume = 4—T-y—3 = 2277 cm®.
25 3|, 3
Check: The volume of the cone can also be calculated using the formula V' = }ar’h = £2° .5 = 7 cem®.
F— —

2

8y

[—e
5cm -r
/ y
! |

Figure 8.2
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12. Each slice is a rectangular slab of length 10 m and width that decreases with height. See Figure 8.3. At height y, the length

13

x is given by the Pythagorean Theorem
y? +f =7

Solving gives # = /72 — 2 m. Thus the width of the slab is 2z = 2,/72 — y* and

Volume of slab = Length - Width - Height = 10-2/72 — 42 - Ay = 20,/72 = y2Ay m®.

Summing over all slabs, we have
Total volume = Y 20y/72 — y2 Ay m®.

Taking a limit as Ay — 0, we get

7
Total volume = _\umOZzo\/w -y Ay = / 201/7% — y2dy m®.
Ay

0

7

To evaluate, we use the table of integrals or the fact that / v/ 7% — y* dy represents the arca of a quarter circle of radius
0

7, so

Total volume = / 204/72 —y2dy =20 %7(72 = 2457 m°.
0
Check: the volume of a half cylinder can also be calculated using the formula V' = %wrgh =

//\

Figure 8.3

2,10 = 2457 m°.

-1

T

=

Each slice is a circular disk. See Figure 8.4. The radius of the sphere is 5 mm, and the radius r at height y is given by the

Pythagorean Theorem
v+’ =5

Solving gives r = /52 — y? mm. Thus,
Volume of disk =~ 7r’Ay = 7(5% — y*)Ay mm>.
Summing over all disks, we have
Total volume = z 7(5% — y*)Ay mm?.

Taking the limit as Ay — 0, we get

5

o 2 2 _ 222 3
Total volume = Al;xﬁOZﬂ'(a y )y _/0 7(d° — y*)dy mm”.

Evaluating gives

ys
Total volume = 7 { 25y — T

°
Check: The volume of a hemisphere can be calculated using the formula V' = %—.r

//,\

Figure 8.4
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14. Each slice is a square; the side length decreases as we go up the pyramid. See Figure 8.5. Since the base of the pyramid is
equal to its vertical height, the slice at distance y from the base, or (2 — y) from the top, has side (2 — y). Thus

Volume of slice = (2 — y)* Ay m*.

Summing over all slices, we get
Total volume = 2(2 —y)Y Ay m’.

) — 02— | (92— 3
Total volume AI;EOZ(- y) Ay /0(2 y) dy m°.

2

Evaluating, we find

v
3

2
Total volume = / (4 -4y +yS)dy = (4!/ -2 +
0 )

Check: The volume of the pyramid can also be calculated using the formula V=1vh= %22 ‘2= 5; m”.

-3

Figure 8.5

Problems

15. The area beneath the curve in Figure 42.1 is given by
4a 1.3/‘2 I2 a 2
va +Z| =2

/Oyd:t::/(;(\/a—ﬁ)?dr: ag - ————+5

The area of the square is a® so the area above the curve is 5a? /6. Thus, the ratio of the areas is 5 to

Figure 8.6: The curve

VE+Ji=va
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16. The curvesy = zandy = z" crossat z = 0and x = 1. For 0 < z < 1, the curve y = z is above y = ™. Thus the
area is given by

1 ntl !
T T 1 1 1
An = r-r"Yr= = - = —_—
" /0 ( ) 2 n+1], 2 n+1 2
Since 2™ — 0 for 0 £ & < 1, as n = oc, the area between the curves approaches the area under the line y==z

betweenz =0andz = 1.
17. Triangle of base and height | and 3. See Figure 8.7. (Either 1 or 3 can be the base. A non-right triangle is also possible.)

— —

A
—_—]

Figure 8.7

18. Semicircle of radius r = 9. See Figure 8.8.

T b
Az

— G

Figure 8.8

19. Quarter circle of radius r = /15. See Figure 8.9.

Figure 8.9
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20. Triangle of base and height 7 and 5. See Figure 8.10. (Either 7 or 5 can be the base. A non-right triangle is also possible.)

|
|

— | —i—
Ah
7 -t
Figure 8.10
21. Hemisphere with radius 12. See Figure 8.11.

h
12 VI = hZ
¥
Q 12

Figure 8.11

22. Cone with height 12 and radius 12/3 = 4. Sce Figure 8.12.

4 -
z
3
fees
IT— 12
Figure 8.12
23. Cone with height 6 and radius 3. See Figure 8.13.
Yy
6
3—y/2
y

Figure 8.13



464 Chapter Eight /SOLUTIONS

24. Hemisphere with radius 2. See Figure 8.14.

22 - (2~y)?

Figure 8,14

We slice up the sphere in planes perpen-
l dicular to the r-axis. Each slice is a cir-
‘ cle, with radivs y = 2 — £2; that’s
the radius because 22 + y° = r® when
z = 0. Then the volume is

V= Z () Ar = Z x(r’—z’) Ar.

Therefore, as Az tends to zero, we get

T=r . -
V= / =(r* = rY)dr
2/ w(r? — &) de
=0

« r
. 2 71'.‘lfJ
=2{#wrr-— 5

Qs
3
This cone is what you get when you rotate the line x = r(h—
y)/h about the y-axis. So slicing perpendicular to the y-axis

yields
y=h n 2
2 h -
Vv / ridy = ﬂ/ ((l’_y)r) dy
y=0 0 !
2

(o]
\2]

Radius = V72 — 12

0

26.

h
=n%/ (R = 2hy +y°) dy
o
2 3 h 5
wre .. 2y mr-h
= } -] - — = ——
Rz |tV 3] . 3

27. (a) A vertical slice has a triangular shape and thickness Ax. See Figure 8.15.
1 . 1
Volume of slice = Areaof triangle - Ax = 3 Base - Height - Axr = 3" 2.3Ar = 3Arcm®.

Thus, ,

=12 cm®.
0

1
Total volume = ..XI;EOZ 3Ax = /0 3dxr = 3r
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3cem

Figure 8.15

(b) A horizontal slice has a rectangular shape and thickness Ah. See Figure 8.16. Using similar triangles, we see that

w _3-h
=3
S0
w = :(3—Il)=2—£h
i
Thus 9 3
Volume of slice ~ 4wAh =4 (2 - §h) Ah = (8 - ;511) Ah.
So,

. 3
. 8 3 8 -“l.’ 3
; = — <h = _— = _ — = >,
Total volume Al}l‘lg0 E (8 3 )Ah /D (8 3h) dh <8h 3 ) 12 cm

0

w

Figure 8.16

28. We slice the water into horizontal slices, each of which is a rectangle. See Figure 8.17.
Volume of slice = 150w Ah km®.

To find w in terms of h, we use the similar triangles in Figure 8.18:

e

w
3 0:

so w = 13h,

[SV]

So
Volume of slice = 150 - 15hAh = 2250hAh km®.

Summing over all slices and letting Ah — 0 gives

0.2
Total volume = lim E 2250hAh =/ 2250h dh km®.
Ah—0 0
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Evaluating the integral gives
5102

Total volume = ‘22503- =45 km°.

/—_.3 km —= k 3km
A0S
/ w

0.2 km f Ah

e— >

Figure 8.17 Figure 8.18

29. To calculate the volume of material, we slice the dam horizontally. See Figure 8.19. The slices are rectangular, so
Volume of slice & 1400w Ah m®.
Since w is a linear function of h, and w = 160 when /» = 0, and w» = 10 when h = 130, this function has slope =
(10 — 160)/150 = —1. Thus
w = 160 — h melers,
S0
Volume of slice & 1400(160 — h)Ah m®.
Summing over all slices and taking the limit as Ak — 0 gives
150 )
Total volume = lim_ Z 1400(160 — h)Ah = /0 1400(160 — /) dh m®.

Evaluating the integral gives

oy (150
Total volume = 1400 (lﬁ()h - %) = 1.785 - 10" m%.

te—10 m—

150m

B L 160 m
Figure 8.19 Figure 8.20

Solutions for Section 8.2

Exercises

1. The volume is given by

! ) 5
. "“ K xXr
i =/ wy dr =/ matdr = T

0 0 2

o




10.

11.

12.

8.2 SOLUTIONS

. The volume is given by

2

2 2 - 5
V= / yidr = / mx+1)'de = “(J-: D)
1 1 9

It
===

!

. The volume is given by

1 1 1
V= / 7y’ dr = / m(e®) dr = / we’* dr = ge?’
-1 -1 -1 -

The volume is given by

1 1 2
V=/ n(Vz+1)grla'=7r/ (a:+1)da:=7r<r—+a‘)
-1 -1

2

The volume is given by

0 0 813 TS
l’=/ ,—.(4—12)2dz=7r/ (16—81?+z4)dr=77(161—?'+'—)

-2

The volume is given by

1 P 1
. 1 \? dz -
“=/7T(r+1) li.‘L‘=Tl‘/(‘I—_*_l—w=—7'l'(ilf'|"1)l
0 0

1 T
—”(1‘5)—5-

0

The volume is given by

2

/2 R w/2
V =/ my dr =/ 7 cos’ rdz.
0 0

wf? 9

Integration by parts gives

E

V' = ~(coszsinz + )

LV

0

Since the graph of y = z? is below the graph of y = z for 0 < z < 1, the volume is given by

r, ! _ ! 2 2
\":/ ﬂx-dx—/ x(r')’dr:r./ (1:2—1:4)d1'=:<——7)
0 ) 0 3 2

Since the graph of y = €37 is above the graph of y = e” for 0 < z < 1, the volume is given by

1 1 1 PG: 2
V= / m(e¥)’ dz — / w(e")’ dr = / (e —e®)dr =7 | — - —
0 0 0 6 2

0

4z

]
Note that this function is actually £3/2 in disguise. So

A

|
=
.

where we set w = 1+ 3z, s0dz = jduw.
The length is

2 02
/ V@ @) + (' (1)? + (' () dt = / 5% + 42 + (=1)%dt = V42.
1 i

This is the length of a straight line from the point (8, 5, 2) to (13. 9. 1).

467

This is a one-quarter of the circumference of a circle of radius 2. That circumference is 2 - 27 = 4w, so the length is
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13. We have

1
D=/ V/(—et sinfet))? + (et cos(et))? dt
0

1 ]
=/ \/e'Tdt:/ e' di
0 0

=e-—1

This is the length of the arc of a unit circle from the point (cos 1,sin 1) to (cose, sin e)—in other words between the
angles # = 1 and 8 = e. The length of this arc is (e — 1).

14, We have

D= / /(=3sin 3t)2 + (5 cos 5t)2 dt.
°
We cannot find this integral symbolically, but numerical methods show D = 24.6.

Problems
15. (a) Slicing the region perpendicular to the r-axis gives disks of radius y. See Figure 8.21.
Volume of slice & my? Az = n(c” — 1)Az.

Thus,
3

3 3
. 2 _ 2 == r
Total volume = AI;TOZ alz” - N)Azr = /2 w(z” — 1)dzr ( 3 .r)

8 167
=a(0-3-(=-2))==".
w(0-3-(5-2)) =3

2

i
Az

Figure 8.21

(b) The arc length, L, of the curve y = f(x)is givenby L = fxb 1 + (f'(x))2 dx. In this problem y is an implicit
function of . Solving for y gives y = V2% — 1 as the equation of the top half of the hyperbola. Differentiating gives

dy 1, 2 —1/2 z
—= = —(xr" - 2 = —
T 2(1 )75 (2x) =1

Thus

3 r 2 3 2 3 far2
Arc length /2 1+ (\/ﬁ) dx /; 1+ e dz /2 v dr 8
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e

2 2 «’
16. y=b[(1-=).
Radius = @ @

1

17. We slice the region perpendicular to the r—axis. The Rie-
mann sum we getis Y m(z® + 1)*Az. So the volume V" is
the integral

1
V= / m(z® + 1)  de

1

1
= 7:/ (2% + 22° + 1) dr
-1

1
T m7+z4+z
i 7 2

(16/7)x ~ 7.18.

-1

18. We slice the region perpendicular to the y-axis. The Rie-
mann sum we getis 3 m(1 —x)*Ay = ¥ w(1 - y*)*Ay.
So the volume V" is the integral

1
V=/ w(1 —y*)dy
0

Radius=1—x

y =x | (-2 +y")dy
0
1
9 3 5
-+ (v 1)
T 0
= (8/153)= =~ 1.68
19. We take slices perpendicular to the z-axis. The Riemann
z . . . .2
sum for approximating the volume is Z wsin” rAz. The
y volume is the integral corresponding to that sum, namely
Radius:sin.r\ "z/ TfSiIl.z.l'll.’lT
/ °
=7 [—l sinz cos T + l:1:] " = G ~ 4.935
=73 s 2%} |, = 5 =4.93.

469
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20. This is the volume of revolution gotten from the rotating the
curve y = e*. Take slices perpendicular to the z-axis. They
will be circles with radius e*, so

=1 1
. 2 2
I':/ Ty dr:ﬂ/erdx
z=0 0

1

2r ol _
Sl B Clnt VST TS
2 2
0
21. We slice the volume with plancs perpendicular to the line y =

—3. This divides the curve into thin washers, as in Example 3 on
page 354 of the text, whose volumes are

> 2 2 2 2
Tout =€ AT oudr — arindr = w(3 + y) dz — #3°dzx.

rin =3 So the integral we get from adding all these washers up is

v

=1
/ [m(3 + y)* — 73°] du

z=0

1
7 / [(3+e°) —9]dzr

0

1

1 e
ﬁ/ [ + 6e7]dx = 7[5 + 6e”]
o 2

0

= n[(e*/2 + 6e) — (1/2 + 6)] =~ 12.42.
22. This problem can be done by slicing the volume into washers
with planes perpendicular to the axis of rotation, y = 7, just like
in Example 3. This time the outside radius of a washer is 7, and
the inside radius is 7 — e®. Therefore, the volume V' is

Tin =7 —eF — . o= ] - T\2 ! z 2r
7 Vo= [F7° = n(7T—€)|dr=nr [ (14¢* —e")dr
Tout = 7 —pae— = =7 z=0 0
e 5 T )
== [14e’ - -e-’] = [14e - ' - (14 - —)]
2 2
0
=~ 65.04
23. We now slice perpendicular to the x-axis. As stated in the prob-

P

lem, the cross-sections obtained thereby will be squares, with
base length e*. The volume of one square slice is (e¥)? dz.
(Look at the picture.) Adding up the volumes of the slices yiclds

=1 1
2.
Volume =/ v (iz:/ e dz
z=0 0

1 2
-1
=€ — ~3.19.

e?x
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24, We slice perpendicular to the r-axis. As stated in the problem,
the cross-sections obtained thereby will be semicircles, with ra-
T2

dius IT The volume of one semicircular slice is %7.' (T) dr.
(Look at the picture.) Adding up the volumes of the slices yields

r==1 ] 1
, .’/— w 2z
Volume =/ e d:r:—/ e dr
r=0 2 8 0
-l 1 22 _
_ 7e _ a(e” — 1) ~1.95
16 o 16

25. (a) We can begin by slicing the pie into horizontal slabs of thickness Ah located at height h. To find the radius of each
slice, we note that radius increases linearly with height. Since r = 4.5 when h = 3 and r = 3.5 when h = 0, we
should have r = 3.5 + h/3. Then the volume of cach slab will be 7r* Ah = #(3.5 4 h/3)2 Ah. To find the total
volume of the pie, we integrate this fromh =0t h = 3:

3 hy?
n/ (3.5+—) dh
Jo 3

B LS
27 6 4 o

:,1[33 3 , 93

—
Il

3

—= ~ 152 in’.
27 6 4 ]
(b) We use 1.5 in as a rough estimate of the radius of an apple. This gives us a volume of (4/3)#(1.5)® = 10 in®. Since
152/10 == 15, we would need about 15 apples to make a pie,
26. (a) The volume can be computed by several methods, not ali of them requiring integration. We will slice horizontally,
forming rectangular slabs of length 100 cm, height Ay, width w and integrate. See Figure 8.22.

Figure 8.22 Figure 8.23

From the right triangle, we see

:il = tan60° = V3
SO v
d= ——.
V3
Thus

The volume of the slab is
9
Al & 100wAy = 100 (5 + i) Ay.
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so the total volume is given by

Volume = AIEBOZ AV = JLIEOZ 100 (5 + 2—\/1’5) Ay

h
= /h 100 <5+ ﬂ) dy = 100 <5y+ i) =100 (511 + ﬁ) cem®
0 v3) v3/|, V3 '

(b) The maximum value of & is h = 5sin60° = 5v/3/2 cm = 4.33 cm.
(c) The maximum volume of water that the gutter can hold is given by substituting h = 5v/3/2 into the volume:

. 2 or
Maximum volume = 100 <5~ 0—2‘{—5 + (5—2\/—5-) /\/§> = 20100 (2v3 + V3) = 1875v/3 = 3247.6 cm®.

(d) Because the gutter is narrower at the bottom than the top, if it is filled with half the maximum possible volume of
water, the gutter will be filled to a depth of more than half of 4.33 cm.
(e) We want to solve for the value of h such that

Volume = 100 <5h + h_\/§> = % 1875V3 = %Vmu

n®
3h+ — = 16.238.
V3
Solving gives h = 2.52 and h = —11.18. Since only positive values of h are meaningful, 2 = 2.52 cm.
27. ¥

We divide the interior of the boat into flat slabs of thickness Ay and width 2z = 24/y/a. (See above.) We have
Volume of slab = 2xLAy = 2L \/gAy.

We are interested in the total volume of the region 0 < y < H., so

(1/2) H a/2)
Total volume = lim Z?L (%) Ay:/ 2L (%) dy

Ay—0

Jo
-2 /H /g, = ALHY
a /, i 3a
If L and H are in meters,
40.000LH®/
Buoyancy force = —————— newtons.

3va
28. We can find the volume of the tree by slicing it into a series of thin horizontal cylinders of height dh and circumference
C. The volume of each cylindrical disk will then be
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Summing all such cylinders, we have the total volume of the trec as

1 120
Total volume = — C? dh.

ix J,
We can estimale this volume using a trapezoidal approximation 10 the integral with Ah = 20:
LEFT estimate = ~&[-20(31" +28 + 217 + 177 +12° + 8%)) = ﬁ(éSGGO).
RIGHT estimate = 417[20(28? +217 +172 4127 + 87 + 29 = %(34520).
TRAP = 11‘:‘(44090) =~ 3509 cubic inches.

29. (a) The volume, V', contained in the bow!l when the surface has height /i is

h .
V= / wx’ dy.
0

. B 2
However, since y = z”, we have r° = V¥ 50 that

B
V= / Tydy = gﬂh3/2.
o 3

Differentiating gives dV/dh = = Y2 = nv/h. Weare given that dV/dt = —6vh, where the negative sign reflects
the fact that V" is decrcasing. Using the chain rule we have

dh  dh dV 1 dV 1
At~ dv di  dVjdh At  avh (-6VA)

_8
.

Thus, dh/dt = —6/, a constant.
(b) Since dh/dt = —6/w we know that h = —6t/% + C. However, when § = 0, 1 = |, therefore h = 1 — 6t /7. The
bowl is cmpty when h = 0, that is when { = 7 /6 units.

30. The problem appears complicated, because we are now working in three dimensions. However, if we take one dimension
at a time, we will see that the solution is not too difficult. For example, let’s just work at a constant depth, say 0. We
apply the trapezoid rule to find the approximate area along the length of the boat. For example, by the trapezoid rule the
approximate arca at depth 0 from the front of the boat to 10 feet toward the back is m’# = 50, Overall, at depth 0 we
have that the area for cach length span is as follows:

Table 8.1
length span: 0-10  10-20 20-30 3040 40-50 50-60
depth 0] 50 105 145 165 165 130

We can fill in the whole chart the same way:

Table 8.2
length span:  0-10  10-20 20-30 3040 40-50 50-60
01 50 103 145 1635 165 130
2 25 60 90 105 105 90
depth 41 15 35 30 65 65 50
6| 3 15 23 35 35 25
8| 0 5 10 10 10 10

Now, to find the volume, we just apply the trapezoid rule to the depths and areas. For example, according 1o the
trapezoid rule the approximate volume as the depth goes from 0 to 2 and the length goes Irom () 10 10 is M =75,
Again, we fill in a chart;
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Table 8.3
length span:  0-10  10-20 20-30 3040 40-50 50-60
021 75 165 235 270 270 220
depth 24 40 95 140 170 170 140
span 46| 20 50 75 100 100 75
6-8 5 20 35 45 45 35

Adding all this up, we find the volume is approximately 2595 cubic feet.
You might worder what would have happened if we had done our trapezoids along the depth axis first instead of

along the length axis. If you try this, you'd find that you come up with the same answers in the volume chart! For the
trapezoid rule, it doesn’t matter which axis you choose first.

31. (a) The equation of a circle of radius r around the origin is 2% +y? = r2. This means that y? = r> — 2, so 2y(dy/dz) =
—2r, and dy/dxr = —z/y. Since the circle is symmetric about both axes, its arc length is 4 times the arc length in

the first quadrant, namely
r ] 2 r . 2
4/ ,/1+(@) dx=4/ i+ (-f) dz.
0 dz o Y

(b) Evaluating this integral yields
v 2
5 dr = 4/ S r > dz
o Vri-2z°

/ ” —-— d.‘l‘—4/ \1+
=4r/0 "r'—’iz'-’ d.r=4r(arcsin(:r/r));

32, As can be seen in Figure 8.24, the region has three straight sides and one curved one. The lengths of the straight sides are
1, 1, and e. The curved side is given by the equation y = f(z) = e®. We can find its length by the formula

i L |
/ 1+f'(1:)2d:r=/ V1+(e*)?dr = / V1 + e2= d.
) 0 Jo

Evaluating the integral numerically gives 2.0035. The total length, therefore, is about 1 + 1 + e + 2.0035 = 6.722.

= 27r.

This is the expected answer.

Figure 8.24

33, Sincey = (e +e7%)/2, ¥ = (e — e~ %) /2. The length of the caienary is

r _ -z 2z -2z
/\/1+(y dr—/ 1+ £ (I.r—/ \/1+e___l+e dx

2 4
z ! -T
/ \/ e +e d1~/ “te —dx
. T2

-1
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34. Since the ellipse is symmetric about its axes, we can just find its arc length in the first quadrant and multiply that by 4.
To determine the arc ]cngth of this section, we first solve for y in terms of z: since 9:2/4 + % = 1is the equation for
the ellipse, we have y2 = 1 — 2%/4,s0y = /1 — 72/4. We also need to find dy/dz; we can do this by differentiating
y? = 1 — 2% /4 implicitly, obtaining 2ydy/dx = —z/2, whence dy/dr = —x[(4y). We now set up the integral:

Circumtference of ellipsu
in first quadrant 1+ —— dz = —
16
; x? 16 — 3r?
= 1+ ———dr = =
/0 Vitte-a2 ™ /0 Vie—a @

This is an improper integral, since 16 — 4z* = 0 for = = 2. Hence, integrating it numerically is somewhat tricky.
However, we can integrate numerically from 0 to 1.999, and then use a vertical line to approximate the last section. The
upper point of the line is (1.999. 0.016); the lower point is (2,0). The length of the line connecting these two points is
\/(2 —1.999)2 + (0 — 0.016)2 =~ 0.016. Approximating the integral from 0 to 1.999 gives 2.391; hence the total arc
length of the first quadrant is approximately 2.391 + 0.016 = 2.407. So the arc length of the whole ellipse is about
4-2.407 = 9.63.

35, Here are many functions which *work.”

e Any linear function y = mxz + b “works.” This follows because —l‘- = m is constant for such functions. So

/\/1-&- ;11 1—/ V1+m?dr = (b-a)\/1+m2

o The function y = - + z&y “works™ 2% = 1(z3 - 1/2%), and

N—d—mm dr—/f et
=/¢_;?:_M_/ ) iz

=[§ 4I]+C

e One more function that “works” is y = In(cos z); we have % = —sinz/ cos x. Hence
dy\? —sinz a: sm T,

,/1+(-2) dr. = 1+ dr =
dz “cosz cos 1:

/sm z+cos?z

cos’z cos?z
= / dr = =
cos T 2

where the last integral comes from I'V-22 of the integral tables.

36. (a) If f(z) = fo \/g'(t)2 — 1dt, then, by the Fundamental Theorem of Calculus, f'(z) = y/g¢'(z)? — 1. So the arc
length of f from O to r is

sinz+1
sinez — 1

\+c

/ T O dt = / V1+ (/o0 - D2
=/ T+ —1dt
0
- / § (1) dt = 9(z) - 9(0) = g(x).
0

(b) If g is the arc length of any function f, then by the Fundamental Theorem of Calculus, ¢'(z) = /1 + f/(z)* > 1.
Soif g'(x) < 1, g cannot be the arc length of a function.
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(c) We find a function f whose arc length from 0 to x is g(x) = 2x. Using part (a), we see that

f(r)=/z,/(g'(t))2_1dt=/z‘/22_1dt=\/§z'
° 0

This is the equation of a line. Does it make sense to you that the arc length of a line segment depends linearly on its
right endpoint?

Solutions for Section 8.3

Exercises

1. Since density is e”* gm/cm,
10

10

10
Mass = / e fdr=~e""| =1-—e " gm.
o

(i
2. Strips perpendicular to the x-axis have length 3, area 3:Az, and mass 5 - 3Ax gm. Thus

2 2
Mass =/ 5-3d1:=/ 15dzx.
0 o

Strips perpendicular to the y-axis have length 2, area 2Ay, and mass 3 - 2Ay gm. Thus

3 3
Mass =/ 5"2dy=/ 10 dy.
0 0

3. (a) Suppose we choose an x, 0 < r < 2. If Az is a small fraction of a meter, then the density of the rod is approximately
d(z) anywhere from  to z + Ax meters from the left end of the rod (see below). The mass of the rod from z to
z + Az meters is therefore approximately §(x) Az = (24 6x)Ax. If we slice the rod into /V pieces, then a Riemann

N

sum is 2(2 + 6zi)Ax.

t=1

(b) The definite integral is

2

e

A = /~5(;)dr=/~(2+6r)dr= (2 +3z7)
0 0

= 16 grams.
o

4. We have

Moment =/ z(z)dx =/ (2 4 6r)dx
2

= 20 gram-meters.
o

0 0
2 o v
= (62 + 2r)dr = (22° + 1°)

0
Now, using this and Problem 3 (b), we have

Moment 20 gram-meters 5 .
= = = meters (from its left end).

Mass 16 grams 1

Center of mass =
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5. (a) Figure 8.25 shows a graph of the density function.

900

300

20

Figure 8.25

(b) Suppose we choose an z, 0 < r < 20. We approximate the density of the number of the cars between z and z + Az
miles as §(x) cars per mile. Therefore, the number of cars between x and r + Ar is approximately §(z)Az. If we
slice the 20 mile strip into V slices, we get that the total number of cars is

N

N
C= Z 8(x)Ar = Z [600 + 300sin(4vz, + 0.15)] Az,

i=1 i=1

N-1
where Az = 20/N. (This is a right-hand approximation; the corresponding left-hand approximation is Z 8(z;)Az.)

i=0
(c) As N — oo, the Riemann sum above approaches the integral

20
C = / (600 + 300sin4vx + 0.15) dx.
0

If we calculate the integral numerically, we find C' = 11513. We can also find the integral exactly as follows:

ap
C= / (GO0 + 300sin 4/ + 0.15) dz
0

20 20
= / 600dz+/ 300sindva +0.15dz
0

0

20
12000 + 300/ sindvz + 0.15dz.
0

Letw = vz + 0.15.s0r = w® — 0.15 and dr = 2w dw. Then

=20 w=v20.15
/ sindvr +0.15dxr = 2 / w sin 4w dw, (using integral table HI-15)
=0 w=+v0.15
v20.18
1 1 .
=2 —zw cosdw + T sin 4w
NGRS

~ —1.624.

Using this, we have C' = 12000 + 300(—1.624) ~ 11513, which matches our numerical approximation.

6. (a) Orient the rectangle in the coordinate plane in such a way that the side referred to in the problem—call it S—lies on
the y-axis from y = 0 10 y = 3, as shown in Figure 8.26. We may subdivide the rectangle into strips of width Az
and length 5. If the left side of a given strip is a distance & away from S (i.e., the y-axis), its density 2 is 1/(1 + z*).
If Az is small enough, the density of the strip is approximately constant—i.c., the density of the whole strip is about
1/(1 4 z). The mass of the strip is jus its density times its area. or 5Az /(1 + z*). Thus the mass of the whole
rectangle is approximated by the Riemann sum

SAxr
1+t
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Figure 8.26

(b) The exact mass of the rectangle is obtained by letting Az — 0 in the Riemann sums above, giving us the integral

fa 5dx
p 1+zt

Since it is not easy to find an antiderivative of 5/(1 + z*), we evaluate this integral numerically, getting 5.5.

7. The total mass is 7 grams. The center of mass is given by

2(=3) + 5(4)

7 = 2 cm to right of origin.

T=
8. The total mass is 9 gm, and so the center of mass is located at T = %(—10 +341-342-1)=-5.

Problems

9. Since the density varies with z, the region must be sliced perpendicular to the r-axis. This has the effect o making the
density approximately constant on each strip. See Figure §.27. Since a strip is of height y, its area is approximately yAz.
The density on the strip is 8(x) = 1 + x gm/cm?, Thus

Mass of strip = Density - Area =~ (1 + z)yAz gm.

Because the tops of the strips end on two different lines, one for z > 0 and the other for £ < 0, the mass is calculated as
the sum of two integrais. See Figure 8.27. For the left part of the region, y = £ + 1, so

0
Mass of left part = A1;1302(1 +1)ydAr = /_1(1 +z)(z +1)dr

_ 01 2d_(1+1)30
—/;1( +-'l') I—T

-1

From Figure 8.27, we see that for the right part of the region, y = —z + 1, so

1
Mass of right part = AEEOZ(I + r)ydr = /(; (1+ )~z +1)dz

! 2 1‘31
=/(1—1")dr=:c——
o 3

1 2
Total mass = 3 + 3= 1gm.




8.3 SOLUTIONS 479

Figure 8.27

10. (a) Pantition [0, 10,000] into N subintervals of width Ar. The arca in the i*" subinterval is = 27r; Ar. So the total mass
in the slick = M =~ Zf_ﬂ 27r (i) Ar.

Iy
10,000
() M= / 1007
0

dr. We may rewrite asdr — =3 L gothat

r
1+r 1475 147 i4r T+
10,000
0
(¢) We wish to find an R such that

R r 1 10,000 r
/ 1007 ——dr = —/ 1007 dr =~ 1.57 x 10°.
o 1+r 2 J, 1+

10,000 1
M = 1007(1 — ——)dr =10 r—Injl
M ‘/0 07 ( 1+r) r Or | r |14 r|

= 1007(10.000 — In(10,001)) = 3.14 x 10° kg.

r

S0 1007(R —In|R + 1|) = 1.37 x 10%: R — In|R + 1] = 5000. By trial and error, we find R = 5009 meters.
11. (a) We form a Riemann sum by slicing the region into concentric rings of radius r and width Ar. Then the volume
deposited on one ring will be the height H (») multiplied by the arca of the ring. A ring of width Ar will have an area
given by
Area = w(r + A1) — #n(r?)
=a(r’ + 2rAr + (Ar)? = %)
7(2rar + (Ar)5).

[

Since Ar is approaching zcro, we can approximate
Arcaofring = =(2rAr +0) = 27zrAr.

From this, we have
AV = H(r)- 2arAr.

Thus, summing the contributions from all rings we have
V= Z H(r) - 2rrAr.

Taking the limit as Ar — 0, we get

5
v=/ 2zr (0.115¢7%"7) dr.
1]

(b) Wec use integration by parts:

5
V =0.23x / (re™®)dr
0

-2 -2
= 0.237 (re — - e—1>
- b 0

~ 0.181(millimeters) - (kilometers)” = 0.181 - 10~3 - 10° meters® = 181 cubic meters.
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(b—a)

12, Partition a < r < b into N subintervals of width Ar = —a=xp < Ty <---<zy =>b The mass of the

strip on the ith subinterval is approximately m, = 6(1:;)[f(x.')-— g{x:i)]Az. If we use a right-hand Riemann sum, the
approximation for the total mass is
N

b
Z 8(x:)[f(z:i) — g(x:))Axz, and the exact mass is M = / (x)f(x) — g(z)]dx.

i=1
13. (a) Use the formula for the volume of a cylinder:

Volume = #r°l.

Since it is only a half cylinder

Volume of shed = -;-nrQI.

(b) Set up the axes as shown in Figure 8.28. The density can be defined as
Density = ky.
Now slice the sawdust horizontally into slabs of thickness Ay as shown in Figure 8.29, and calculate
Volume of slab = 2zl{Ay = ZI(M)Ay.

Mass of slab = Density - Volume = 2hly\/72 — y2Ay.

Finally, we compute the total mass of sawdust:

r r 103
Total mass of sawdust = / 2kly\/r? — y2dy = —g—kl(r2 -y = %
o 0
y
7t
:
| T \
—r zr
2 ., /
Figure 8.28 Figure 8.29

14. First we rewrite the chart, listing the density with the corresponding distance from the center of the earth (x km below the
surface is equivalent to 6370 — z km from the center):
This gives us spherical shells whose volumes are %ﬁ(r? - r?.“) for any two consecutive distances from the origin.
We will assume that the density of the earth is increasing with depth. Therefore, the average density of the i'® shell is
between D; and D41, the densities at top and bottom of shell i. So 37Dy (rf —r%,,) and 37 Di(r? — r}.,) are upper
and lower bounds for the mass of the shell.

Table 8.4
i xr; | r; =6370 — x, D,
0 0 6370 | 3.3
1] 1000 5370 | 4.5
2 | 2000 4370 | 5.1
32900 3470 | 5.6
41 3000 3370 | 10.1
5 | 4000 2370 | 114
6 | 5000 1370 | 12.6
7 { 6000 370 | 13.0
8 | 6370 01130
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To get a rough approximation of the mass of the earth, we don’t need to use all the data. Let’s just usc the densities
at £ = 0, 2900, 5000 and 6370 km. Calculating an upper bound on the mass,

My = %ﬂ[l3.0(13703 —0%) + 12.6(3470% — 1370%) + 5.6(6370° — 3470%)] - 10'® ~ 7.29 x 10°" g.

The factor of 10'® may appear unusual. Remember the radius is given in kilometers and the density is given in glem?®, so

we must convert kilometers (o centimeters: 1 km = 10° em , so 1 km® = 10*® cmd.

The lower bound is
My = %177[12.6(13703 ~ 0%) + 5.6(3470° — 1370°) + 3.3(6370° — 3470%)] - 10"® = 4.05 x 107" ¢.

Here, our upper bound is just under 2 times our lower bound.
Using all our data, we can find a more accurate estimate. The upper and lower bounds are

7
4 5
My = gm E._O Din (PP =73 )- 100 g

and _
My = %wz D,—(r? - r‘?+1) . 10% g.
i=0
We have
My = %[4.5(63703 —5370%) + 5.1(5370% — 4370%) + 5.6(4370° — 3470%)

+10.1(3470% — 3370%) + 11.4(3370° — 2370%) + 12.6(2370° — 1370%)

+ 13.0(1370° — 370°) + 13.0(370° — 0%)] - 10'° ¢

~ 6.50 x 10" g
and

My = %w[3.3(63703 — 5370%) + 4.5(5370% — 4370%) + 5.1(4370° — 3470°%)

+ 5.6(3470° — 3370%) + 10.1(3370° — 2370%) + 11.4(2370° — 1370%)
+ 12.6(1370% — 370%) +13.0{370° — 0%)] - 10" ¢
~ 5.46 x 10%7 8.

We slice time into small intervals. Since ¢ is given in seconds, we convert the minute to 60 seconds. We consider water
loss over the time interval 0 < ¢ < 60. We also need to convert inches into feet since the velocity is given in ft/sec. Since
1 inch = 1/12 foot, the square hole has area 1/144 square feet. For water flowing through a hole with constant velocity v,
the amount of water which has passed through in some time, AA¢, can be pictured as the rectangular solid in Figure 8.30,
which has volume

Area - Height = Area - Velocity - Time.

>

— 1y
| Area = 7 ft

Height = g(8)At —»

134

Figure 8.30: Volume of water passing
through hole
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Over a small time interval of length At, starting at time {, water flows with a nearly constant velocity v = g(?)
through a hole 1/144 square fect in area. In At seconds, we know that

1 ., : 1
Water lost =~ [ —— fU° ) Itfsec)(At sec) = [ — At fid,
ater lost (14-1 ft ) (g(t) ffsec)(At sec) (144) g(t) Az fu
Adding the water from all subintervals gives

1
Total water lost ~ z T390 &t fid.

As At — 0, the sum tends to the definite integral:

o 4
Total water lost = ——g(t)dt fi°.
otal water los /n 144g()t

16. (a) Divide the atmosphere into spherical shells of thickness Ah. See Figure 8.31. The density on a typical shell, p(h), is

approximately constant. The volume of the shell is approximately the surface area of a sphere of radius r. + » meters
times Ah, where r, = 6.4 - 10° meters is the radius of the earth.

Volume of Shell =~ 4x(r. + h;)zAh.
A Riemann sum for the total mass is

Mass & Y dm(re +h)° x 1.28e™ 0000128 \p kg

Figure 8.31

(b) This Riemann sum becomes the integral

100
Mass = 4;.—/ (e + h)? - 1.28¢~0-00012¢k 7
0
100 A ‘
= 47/ (61 -10% + h)2 . 1.28(’«_0‘00012;’,] dh.
0

Evaluating the integral using numerical methods gives M = 6.5 - 10'° kg.

17. We necd the numerator oi 7. to be zero, i.e. Z x;m; = (. Since all of the masses are the same, we can factor them out

and write 4 Y x; = 0. Thus the fourth mass needs to be placed so that all of the positions sum to zero. The first three
positions sum to (=6 + 1 4 3) = —2, so the fourth mass nceds to be placed at r = 2.

18. We have

3 3713
Total mass of the rod = / 1+ ;zrz) dr = [.r + %] = 12 grams.
0 o
In addition,
8 2 2 2P a9
Moment = z(l+z7)der= | =+ = = — gram-meters.
o 2 T4, ¢

Thus, the center of mass is at the position = g—?zﬁ = 2.06 meters.
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19. The center of mass is _
j;)“ z(2 + sinx)dx
foﬁ(‘l +sinx)dr
”
=47
0

=

The numerator is fO’(Q::: +asinz)dz = (£ — rcosz + sinx)

= 2w + 2. So the center of mass is at
0

The denominator is [7(2 + sinz)dr = (2z - cosr)

r (m+1) _w

+7
2r+2 2m+1) 27

T =

20. (a) We find that
1 2 4 1
2 k v
Moment = / z(l + kz")dz = (I—- + i) ‘ = 1 + k gram-meters,
o o

2 4 2 4
and that
' ke | k
Total mass = / (14 kr?)dz = (;l.‘ + = =1+ - grams.
o 3 o 3
Thus, the center of mass is
= %Té =3 (2+k) meters
T+ % T a\34+k )
(b) Let f(k) = 2 (,3,1:) Then f'(k) = 3 ((3_‘_1,:)_,), which is always positive, so f is an increasing function of k.
Since f(0) = 0.3, this is the smallest value of f. Ask — oo, f(k) = 3/4 = 0.75. So f(k) is always between 0.5
and 0.75.
21. (a) The density is minimum at £ = —1 and increases as x increases, so more of the mass of the rod is in the right half of

the rod. We thus expect the balancing point to be to the right of the origin.
(b) We need to compute

(using integration by parts)

1 3 1
/ z(3-e F)dr = (5;1:2 +ze” " +e")

1 -1

3 1, -1 3 1 1)_2
_2+e e (2 e +e =<

We must divide this result by the total mass, which is given by

1
/ B—-e"")dr=Br+e ")
-1

We therefore have
2/e 2

= = 0.2,
6—e+(1/e) 1+46e—¢? 0

I =

22. (a) Since the density is constant, the mass is the product of the arca of the plate and its density.

1 1
Area of the plate = / o’ dr = lra -1 em?,
o 3 lo 3

Thus the mass of the plate is 2-1/3 = 2/3 gm.
(b) See Figure 8.32. Since the region is “fatter” closer to £ = 1, I is greater than 1/2.



484 Chapter Eight /SOLUTIONS

- - 1

Ar

Figure 8.32

{c) To find the center of mass along the z-axis, we slice the region into vertical strips of width Ax. See Figure 8.32. Then
Areaof strip = A;(z)Ar = #°Az
Then, since the density is 2 gm/cm?, we have

15,3 1
E=f02.zt da'.:%'E
2/3 771

0
This is greater than 1/2, as predicted in part (b).
23. (a) Since the density is constant, the mass is the product of the area of the plate and its density.

o2
2
=-cm".

1
Area of the plate = / Vrdr = 213/2 :
0

3

Thus the mass of the plate is 5 - 2/3 = 10/3 gm.
(b) To find . we slice the region into vertical strips of width Axz. Sce Figurc 8.33. Then

Areaof strip = A-(x)Az = VZAz cm®.
Then, since the density is 5 gm/cm?, we have

1

fré.—l,(z)da: _ fol 523/ dr 3
= 0=3

Mass 10/3 710

To find §, we slice the region into horizontal strips of width Ay

= 2
ITr = vs/

Arca of horizontal strip = A, (y)Ay = (1 - £)Ay = (1 — y°)Ay cm®.

Then. since the density is 5 gm/cm?, we have

__JviA@dy _ fosw-vdy s (|3 5 8
V=" Mass /3 10°\2 1)|, 10°1"8
Yy
t ‘/5 l
}
j
i .
> e 1
Ax

Figure 8.33
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24, The triangle is symmetric about the z axis, so jy = 0.

To find Z, we first calculate the density. The area of the triangle is ab/2, so it has density 2m/(ab) where m is the
total mass of the triangle. We need to find the mass of a small strip of width Ax located at x; (see Figure 8.34).

bla

Area of the small sirip ~ A (2)Ar =2 %Aw.

Multiplying by the density 2m/(ab) gives
. {a—1z)
Mass of the strip = ‘ZmT—Aa,u
a2

We then sum the product of these masses with «r;, and take the limit as Az — 0 to get

8 rfg — 9 2 3\ |¢ 9 3 3 .
Moment:/ 2"—”'(-(1,—2—)-(1.r=ﬂ &__T_) = T(a__f_ =
0 o @\ 2 3 3

2 2 3
Finally, we divide by the total mass m to get the desired result ¥ = a/3, which is independent of the length of the base b.

(M

Figure 8.34

25. Stand the cone with the base horizontal, with center at the origin. Symmetry gives us that £ = § = 0. Since the cone is
fatter near its base we expect the center of mass to be nearer to the base.
Slice the cone into disks parallel to the ry-plane.
As we saw in Example 2 on page 347, a disk of thickness Az at height z above the base has

Volume of disk = A.(z)Az = #(5 — 2)>Az cm®.
Thus, since the density is §,
J 26A.(2)d-= fos z-6m(5— 2)%dz
Mass B Mass
To evaluate the integral in the numerator, we factor out the constant density é and 7 to get

5 5 2 3 1y |8
/ z-0w(5 - 2)*dz = 6#/ 2(25 — 102 + z°) dz = 67 2827 _ 10z +2 = —
o o 2 3 4

z =

cm.

We divide this result by the total mass of the cone, which is (§75% - 5) 8:

(=3

]".'5 kY

zT = =

wH3s

:Jl
A

=1.25cm.

Wl
L=
ol e

As predicted, the center of mass is closer to the base of the cone than its top.
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26. Since the density is constant, the total mass of the solid is the product of the volume of the solid and its density: §m (1 —
e~%)/2. By symmetry, § = 0. To find Z, we slice the solid into disks of width Az, perpendicular to the z-axis. See
Figure 8.35. A disk at « has radius y = e 7, so

Volume of disk = A, (z)Az = ny’dzx = we ¥ Ax.

Since the density is 4, we have

1 D) 1
x-dne Pdxr x| re~*Fdr 2 1 "
T= fo = fo / re T dz.
0

Totalmass ~ éx(l—e-2)/2 ~ 1—e2

The integral [ ze~>" dz can be done by pants: let « = rand v’ = e™**. Then v’ = 1 and v = e~ /(—2). So

—2x -2z -2z -2z
—2z re e xe e

dr = - It = - .
/ZEC fed -5 / - dzx -~ 1

1 - -
_az TE 2r e 2z
re Tdr= -
o ) 1

The final result is:

and then

2 1-3e® 1-37°
1—e? 4 T 2-2e2
Notice that Z is less that 1/2, as we would expecet {rom the fact that the solid is wider near the origin.

T= = 0.343.

Radius = y

Figure 8.35

27. (a) Position the pyramid so that the center of its base lies at the origin on the zy-plane. Slice the pyramid into square
slabs parallel to its base. We compute the mass of the pyramid by adding the masses of the slabs.
The mass of a slab is its volume multiplied by the density 4. To compute the volume of a slab, we need to get an
expression for the side s of the slab in terms of its height z. Using the similar triangles in Figure 8.36, we see that
s _(0-2)
40 10
Thus s = 4(10 — z). Since the arca of the square slab’s face is s°,
Volume of the slab = A.(2)Az = s° Az = 16(10 — z)? Az,

Mass of slab = 164(10 — z)*Az.

The mass of the pyramid can be found by summing all of the masses of the slabs. and letting the thickness Az
approach zero:

166010 — 2)°|'® 160006

gm.
3 o 3

10
s = i 0-z) Az = —2)d
Total mass Alixgoz 1646(1 ) A /0 164(10 ) dz



8.4 SOLUTIONS 487

10—z
10 cm
= 1 Az
. s , i
|
t 40 cem {
Figure 8.36

(b) From symmeiry, we have £ = § = 0. Since the pyramid is fatter near its base we expect the center of mass to be
nearer to the base. Since
Volume of slab = A:(z)Az = 16(10 — z)° Az,

£, 2 168(10 — ) dz

z =

Total mass
To evaluate the integral in the numerator, we factor out the constant 164 and expand the integrand to get

400006
T

1]

10 ) 9 —'20"3 54
166/ (1002 — 202> + 2%)dz = 16§ (SOz“ + 3' + T)
0

We divide this result by the total mass 160004/3 of the pyramid

_400006/3 40000

= = =2.5
160006/3 ~ 16000 >0 °™

|

As predicted, the center of mass is closer to the base of the pyramid than its top.

Solutions for Section 8.4

Exercises

1. The work done is given by

a

= 9 joules
D) J .

2
W = / 3rdr = g.r:)
\ 2

3
W= / 3rdr = §.v‘)
0 2

3. (a) For compression fromz =0tox = 1.

1

2. The work done is given by
3

.
—?_IOUCS.
1}

N 3 3
Work = / 3rdr = 51:2 =3= 1.5 joules.
0

[¢]

For compression fromx = 4tox = 3,

5 3 o
= 5(25 —16) = = 13.5 joules.

1

ol

5 3 .
Work =/ 3md1:=3r-‘
Kl

(b) The second answer is larger. Since the force increases with «, for a given displacement, the work done is larger for
larger = values. Thus, we expect more work 1o be done in moving fromz = 4toxr = 5 than fromz = 0toz = 1.
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4. Since the gravitational force is

14
F= 4 120 newtons
”
and r varies between 6.4 - 10° and 7.4 - 10° meters,
TH10% 7.4-108
Work done = / 2 1? dr = —4.10" 1

6.4-106 re " [6.4.100
=4-10" ( ! - ! ) = 8.4 10° joules
6.4-106 7.4-108 ) h

5. The force exerted on the satellite by the earth (and vice versa!) is GMmn/r?, where r is the distance from the center of
the earth to the center of the satellite, m is the mass of the satellite, Af is the mass of the earth, and G is the gravitational
constant. So the total work done is

8.4-108 8.4.10°
/ Fdr = / G.\{m dr = (—G.Mm)
6 64106 T r

.4-108

8.4-10°
2 1.489 - 10'° joules.
6.4-106

Problems

6. Let x be the distance from ground to the bucket of cement.
At height x, if the bucket is lifted by Az, the work done is
500Az+5(75—2z)Az. The 500Ax term is due to the bucket 75 [‘ 4
of cement; the 5(75 — x)Axr term is due to the remaining
cable. So the total work required to lift the bucket is

30 30 |
W = / 500dx + / 5(75 — z)dx
0 0

30
= (500)(30) + 5(75(30) — ~30%)
2 r - [500
= 24000 t-1b. {
0

7. Tolift the weight an additional height Ah off the ground from a height of &, we must do work on the weight and the amount
of rope not yet pulled onto the roof. Since the roof is 30 ft off the ground, there will be 30 — & feet remaining of rope, for
a weight of 4(30 — h). So the work required to raise the weight and the rope a height Ak will be AR(1000 + 4(30 — h)).
To find the total work, we integrate this quantity from h = Oto h = 10:

10
Work = / (1000 + 4(30 — k)) dh
)]

10
=/ (1120 — 4h) dh
a

10
= (1120k — 2k%)

0
= 11.200 — 200
= 11,000 ft-lbs.

8. The bucket moves upward at 40/10 = 4 meters/minute. If time is in minutcs, at time ¢ the bucket is at a height of z = 4t
meters above the ground. Sce Figure 8.37.
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Platiorm

| 40m

1

I

3

r

L—— Ground
Figure 8.37

The water drips out at a rate of /10 = 0.5 kg/minute. Initially there is 20 kg of water in the bucket, so at time ¢
minutes, the mass of water remaining is

m = 20 — 0.5t kg.

Consider the time interval between ¢ and ¢ + ¢, During this time the bucket moves a distance Ar = 4A¢ meters. So,
during this interval,

Work done = mgAx = (20 - 0.5t)g4At joules.

10
sork =1 —0.5t)gd4At = -0.5
Total work done A:u_:()Z(?O 0.5t)g 4g ./O (20 — 0.5t) dt

. 1o
= 49(20¢ — 0.25t%) .

= 700g = 700(9.8) = 6860 joules.

9, Consider lifting a rectangular slab of water h feet from the top up to the top. The area of such a slab is (10)(20) = 200
square feet; if the thickness is dh, then the volume of such a slab is 200 dh cubic feet, This much water weighs 62.4
pounds per ft*, so the weight of such a slab is (200 dh)(62.4) = 12480 dh pounds. To lift that much water h feet requires
12480h dh foot-pounds of work. To lift the whole tank, we lift one plate at a time; integrating over the slabs yields

A X 10
BN
A
dh
| 15
}
e e h e 20 - =
15 2 115 -
R & l)‘ . -
/ 12480k dh = 12430" = 1'482 157 _ | 404.000 foot-pounds.
o

0
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10. Let xr be the distance measured from the bottom
the tank. To pump a layer of water of thickness 6

Az at z feet from the bottom, the work needed is - T T

(62.4)76%(20 — x)Az.

20 -z

Therefore, the total work is

10 20’
W = / 36 - (62.4)7(20 — z)dzr
o
10

= 36 - (62.4)7(20x — %1‘2)
0

= 36 - (62.4)7(200 ~ 50)
~ 1.058.591.1 fi-Ib.

Volume of Slice = 7(6%)Ax
11, Let z be the distance from the bottom of
the tank. To pump a layer of water of
thickness Axr at = feet from the bottom to
10 feet above the tank, the work done is
(62.4)76% (30 — ) Ax. Thus the total work ¢

is
——

10

20
/ 36+ (62.4)=(30 — 2)dx
0
1A l° 30—z
= 36- (62.4)% (301, _ 31-)
- 0

— 36 - (62.4)7(30(20) — %202)
~ 2.822.909.50 ft-Ib.

Volume of Slice = 76ZAzx

12, We begin by slicing the oil into slabs at a distance h below the surface with thickness Ah. We can then calculate the
volume of the slab and the work needed 1o raise this slab to the surface, a distance of /.

Volume of Ah disk = 7r’Ah = 257Ah
Weight of Ah disk = (257)(50)Ah
Distance 1o raise = h
Work to raise = (257)(50)(h)Ah.

Integrating the work over all such slabs, we have

25
Work=/ (50)(25w)(h) dh

19
25

= 6257h°

19
= 390.6257 — 225,625

2 518,363 fi-lbs.

A diagram of this tank is shown in Figure 8.38.
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14,
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14

- —— =

Let h represent distance below the surface in feet. We slice the tank up into horizontal slabs of thickness Ah. From
looking at the figure, we can see that the slabs will be rectangular. The length of any slab is 12 feet. The width w of a

slab h units below the ground will equal 2z, where (14 — k) 4+ 22 = 16, so w = 2,/4? — (14 ~ h)2. The volume of
such a slab is therefore 12w Ah = 241/16 — (14 — h)? Ah cubic feet; the slab weighs 42 - 24,/16 — (14 — h)2 AR =
1008,/16 — (14 — h)? Ah pounds. So the total work done in pumping out all the gasoline is

i

18 8
/ 1008h+/16 — (14 — h)2 dh = 1008 / h\/16 — (14 — h)2 dh.
1

0 J10

Substitute s = 14 — h, ds = —~dh. We get

18 -4
1008/ h\/16 — (14 — h)2dh = —1008/ (14 - 8)1/16 — s2 ds
1 4

0
.4 4
=1008-l4/ 16—s3d3—1008/ sv/16 — s2 ds.
-1 —1

The first integral represents the area of a semicircle of radius 4, which is 8. The second is the integral of an odd function,
over the interval —4 < s < 4, and is therefore 0. Hence, the total work is 1008 - 14 - 87 =~ 354.673 foot-pounds.

Divide the muddy water into horizontal slabs of thickness Ah. See Figure 8.39. Then for a typical slab

Volume of slab = 7(0.5)* Ak m®
Mass of slab = §(h)m(0.5)° Ak = 0.257(1 + kh)Ah ke

The water in this slab is moved a distance of A + 0.3 meters to the rim of the barrel. Now
Work done = Mass - g - Distance moved,
and work is measured in newtons if mass is in kilograms and distance is in meters, so

Work done in moving slab = 0.257(1 + kh)g(h + 0.3)AR joules.
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Since the slices run from h = 0 to h = 1.5, we have

5

1.
Total work done = / 0.257(1 + kh)g(h + 0.3) dh
0

= 0.366(k + 1.077) g joules

Top of water

T
0.3m

h

Ah

Figure 8.39

15. (a) Divide the wall into NV horizontal strips, each
of which is of height Ah. The area of each
strip is 1000Ah, and the pressure at depth k; is
62.4h;, so we approximate the force on the strip
as 1000(62.4k; ) Ah.

1000

Therefore,
N1

Force on the Dam & »  1000(62.4h:)Ah.
i=0
(b) As N — oo, the Riemann sum becomes the integral, so the force on the dam is
B2 [

2

0
"L\‘\\ N T\\?\ 10
i \“ \\ \( -%
|

50
/ (1000)(62.4h) dh = 62400 = 78,000,000 pounds.
o

16.

¢ Bottom: The bottom of the tank is at constant depth 15 feet, and therefore is under constant pressure, 15 - 62.4 =
936 1b/ft?. The area of the base is 200 fi> and so the total force is 200 ft* - 936 Ib/ft> = 187200 Ib.
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e 15 x 10 side: The area of a horizontal strip of width dh is 10 dh square feet, and the pressure at height h is 62.4h
pounds per square foot. Therefore, the force on such a strip is 62.4h(10 dh) pounds. Hence, the total force on this
side is

15 015
/ (62.4h)(10) dh = 6‘24% = 70200 Ibs.
o]
e 15 x 20 side: Similarly, the total force on this side is

i5 B2 15
/ (62.4R)(20) dh = 1248=-| = 140400 Ibs.
0

17. Botiom:
Water force = 62.4(2)(12) = 1497.6 Ibs.

Front and back:

2 2
Water force = (62.4)(4)/ (2 - z) dz = (62.4)(4)(2x - %12)
° 0
= (62.4)(4)(2) = 499.2 Ibs.

Both sides: .
Water force = (62.4)(3)/ (2—z) dz = (62.4)(3)(2) = 374.4 Ibs.
0

18. (a) Since the density of water is 8 = 1000 kg/m>, at the base of the dam, water pressure gh = 1000 - 9.8 - 180 =
1.76 - 10% n/m?.
(b) To set up a definite integral giving the force, we divide the dam into horizontal strips. We use horizontal strips
because the pressure along each strip is approximately constant, since each part is at approximately the same depth,
See Figure 8.40.
Area of strip = 2000\ m?.

Pressure at depth of it meters = dgh = 9800k nt/m?. Thus,
Force on strip & Pressure x Area = 9800h - 2000Ak = 1.96 - 107 hAh nt.

Summing over all strips and letting Al — 0 gives:

180
Total force = lim Z 1.96 - 10°hAR = 1.96 - 107/ h dh newtons.
Ah=0 0

Evaluating gives

B2 180
Total force = 1.96 -10° > =3.2-10"! newtons.
“lo
[ 2000 m
I
180 m 7 Ah
Figure 8.40

19. (a) Atadepth of 350 feet,
Pressure = 62.4 - 350 = 21.840 Ib/ic.

To imagine this pressure, we convert to pounds per square inch, giving a pressure of 21,840/144 = 151.7 Ibfin?.
(b) (i) When the square is held horizontally, the pressure is constant at 21.840 Ibs/ft?, so

Force = Pressure - Area = 21.840 - 5° = 546,000 pounds.
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(ii) When the square is held vertically, only the bottom is at 350 feet. Dividing into horizontal strips, as in Fig-
ure 8.41, we have
Areaof strip = 5Ah 1%,

Since the pressure on a strip at a depth of h feetis 62.4h 1b/ft®,
Force on strip = 62.4h - 5Ah = 312hAh pounds.

Summing over all strips and taking the limit as Ah — 0 gives a definite integral. The strips vary between a
depth of 350 feet and 345 feet, so

350
Total force = A1’11130 Z 312hAh = /3.15 312h dh pounds.
Evaluating gives
B2 3%
Towl force =312--| = 156(350% — 345%) = 542,100 pounds.
345
— 5t

Depth = 3451t —»

% Ah

Depth = 350 #t

N

Bottom of sea

Figure 8.41

20. (a) Since water has density 62.4 1b/ft3, at a depth of 12.500 feet,
Pressure = Density x Depth = 62.4 - 12.500 = 780.000 lb/square foot.

To imagine this pressure, observe that it is equivalent to 780.000/144 =~ 5400 pounds per square inch.
(b) To calculate the pressure on the porthole (window), we slice it into horizontal strips, as the pressure remains approx-
imately constant along each one. See Figure 8.42. Since each strip is approximately rectangular

Area of strip = 2rAh fi°,
To calculate r in terms of &, we use the Pythagorean Theorem:
P+r=9
r=+v9-h2

$0
Area of strip & 24/9 — h2Ah fi°.

The center of the porthole is at a depth of 12,500 feet below the surface, so the strip shown in Figure 8.42 is at a
depth of (12.500 — k) feet. Thus, pressure on the strip is 62.4(12,500 — h) b/ft2, so

Force on strip = Pressure x Area = 62.4(12.500 — h)2v/9 — h2Ah1b
= 124.8(12.500 — h)\/9 — h2Ah Ib.

To get the total force, we sum over all strips and take the limit as Ak — 0. Since h ranges from —3 to 3. we get the

integral
o = i 24. 500 = A — h2/
Total force Al'llm0 E 124.8(12.500 — 1)y/9 — h2Ah

3
= 124.8/ (12.500 — h)\/9 — h2 dh Ib.
-3
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Evaluating the integral numerically, we obtain a total force of 2.2 - 10° pounds.

y

Figure 8.42: Center of circle is 12,500 ft below
the surface of ocean

21. We divide the dam into horizontal strips since the pressure is then approximately constant on each one. See Figure 8.43.
Arcaof stip ~ wAh m”.

Since w is a linear function of i, and w = 3600 when A = 0, and w = 3000 when / = 100, the function has slope
(3000 — 3600)/100 = —6. Thus,
w = 3600 — 6h,
S0 )
Area of strip % (3600 — 6h) \h m?.
The density of water is § = 1000 kg/m®, so the pressure at depth h meters = gh = 1000 - 9.8k = 9800/ nvm?. Thus.

100
Total force = lim E 980013600 — 6h)Ah = 98()0/ h(3600 — Gh) dh newtons.
Ah—=0 0

Evaluating the integral gives
100

Total force = 9800(1800h° — 2h3) = 1.6- 10" newtons.

0
' 3600 m ol

7%

00, ey

Ah

a3 —

——3000 m—

Figure 8.43

22. We need to divide the disk up into circular rings of charge and integrate their contributions to the potential (at P) from
10 a. These rings, however, are not uniformly distant from the point P. A ring of radius z is v R? + z? away from point
P (see below).




496 Chapter Eight /SOLUTIONS

. . - . . 27 Az .
The ring has area 27z Az. and charge 27z Az. The potential of the ring is then \/%—:3 and the total potential

at point P is
2nzodz  2zdz
—x

—_— T —_—
o VR2+32 ) .l?“'2 + 22

We make the substitution u = z2. Then du = 2z dz. We obtain

nji—ra/aE—L—'ﬂ(‘) R? +u)
i ), TPaa ¢ i

= no(2y/ R? + z?)

(The substitution « = R” + z? or VR? + z2 works also.)

23. The density of the rod is 10 kg/6 m = $X5. Alit-
ile piece, dz m, of the rod thus has mass 53/3 dx kg.
If this piece has an angular velocity of 2 rad/sec, e~

=270(V/R*+a? - R).
o

-~

4

~
then its actual velocity is 2|z| m/sec. This is be- \\\\
causc a radian angle sweeps out an arc length equal 3 z \ Y

to the radius of the circle, and in this case the lit- T 0 | .
tle piece moves in circles about the origin of ra- dz

dius |z]. The kinetic energy of the little piece is
mo® 2 = (5/3dx)(2}z|)’ /2 = Lz dr.

[ Mg

[

= 60 kg - m”/sec” = 60 joules.

Therefore.

3 2 . 3
10z 20 |z
Total Kinetic Energy = / de = =— [_]
3 3 313

[ )
=
q

We slice the record into rings in such a way that every
point has approximately the same speed: use conceniric
circles around the hole. We assume the record is a flat
disk of uniform density: since its mass is 50 grams and
its area is #(10cm)? = 1007 cm’, the record has density

50 _ 1 gram . N -
Toos = EECTET So a ring of width dr, having area about

27rdr cm?, has mass approximately (277 dr)(1/27) =
r dr gm. At radius r, the velocity of the ring is
g31 Tev lmin 2arcm _ 1077 cm
Smin 60sec 1lrev 9 sec

The kinetic energy of the ring is

107+ cm)? _ 50773 dr gram - cm?

I P
e = §(r<rgrams)( 9 sec 81 sec?

So the Kinetic energy of the record, summing the energies of all these rings, is

10 2.3 9524 !0
T a 257
/ 507 r dr _ 25w"7 = 15231 ergs.
0

2

. gram - cm

= ~ 15231 =—vu—-
81 162 1523 oc?

0
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The gravitational force exerted by the small piece of the ring is along the line QP. As we sum over all pieces of the
ring, the components perpendicular 1o the line OP cancel. The components of the force toward the point O are all in the
same direction, so the net force is in this direction. The small piece of length Al and mass AIM /27 is at a distance of

va? + y? from P, so

G eh\«l ) Mon:
Gravitational force from small piece = AF = I GM.)mAZ,, .
(VaZ+y?)? 2ma(e®+y?)
Thus the force toward O exerted by the small piece is given by
\Fcos = AF y GMmAl y _ GMmyAl

\/a'-’ +y? = 2ra(a® + y?) \/02 + 2 ~ 2ma(a? +y?)372"
The total force toward O is given by F = Y AF cos 8, so

_ GAMmy - Total length _ GMmy2ma _  GMmy
T 2mafa® + ¥ T 2ma(a? 4+ y?)¥2 T (a4 y2)¥2

28. Divide the disk into rings of radius », width Ar, as shown in Figure 8.45.

]
LT
a
Ar
Figure 8.45
Then
Area of ring = 27rAr.
Since total area of disk is wa?, R v
C. 2wrs 2rd
Mass of ring = T A= DA
a2 a?
Thus, calculating the gravitational force due to the ring, we have
Gravitational force 2rd my 2GMmyr
5 = G I AT 2 = ] 2l 2 2 AT
on m due to ring a’ (r2 +y2)3/2  a(r? + y2)3/?

Summing over all rings, we get

Total gravitational force Z 2GMmyr .
on m due to disk a2(r? + )32

As Ar = 0, we get

Gravitational force _ [ 2GMmyr dr — 2GMmy -1
onmduetodisk — f, a(r®+y?)/2 T a2 (r +y?)2|,

_ 2GMny 1 1
- al y (a2 + y2)1/2 :

Solutions for Section 8.5

Exercises

I. Atany time ¢, in a time interval At, an amount of 1000A¢ is deposited into the account, This amount earns interest for
(10 — t) years giving a future value of 1000910~ Symming all such deposits, we have

10
Future value = / 1000e%-9810-1) 34 — $15.319.30.
[1]
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13 15
Future Value = / 3000e% %65~ gt = 3000¢°° / e~ 008t gy
0 0

15

_ 0.9 1 —o.om)
= 3000e (—n.ose

= §72.980.16

1 1
= 3000¢°° ( 0.9 0)
¢ oo Tt

0

[

15
Present Value =/ 3000e %% 7t = 3000 (_ 1 )C—o.om
V]

~ $29,671.52.

There’s a quicker way to calculate the present value of the income stream, since the future value of the income stream is
(as we've shown) $72,980.16, the present value of the income strcam must be the present value of $72,980.16. Thus,

Present Value = $72.980.16(e~"%"%)
= §29.671.52.

which is what we got before.
3. We compute the future value first: we have

5
Future value = / 2000e>9%¢ =t = $12. 295.62.
0

We can compute the present value using an integral and the income stream or using the future value. We compute the
present value, P, from the future value:

12295.62 = Pe® ™) ¢« P = 8242.00.

The future value of this income stream is $12, 295.62 and the present value of this income stream is $8, 2:12.00.

4. (a) We compute the future value of this income stream:

Future value = /
0

After 20 years, the account will contain $43, 645.71.
(b) The person has deposited $1000 every year for 20 years, for a total of $20. 000.
(c) The total interest earned is $43, 645.71 — $20, 000 = $23. 645.71.

!

0
10000730 ¢y = $43. 645.71.

Problems

S, Siyear

{ (years from present)

1

The graph reaches a peak cach summer, and a trough each winter. The graph shows sunscreen sales increasing from
cycle to cycle. This gradual increase may be due in part to inflation and to population growth.

6. (a) The lump sum payment has a present value of 104 million dollars . We compute the present value of the other option
in each casc. An award of $197 million paid out continuously over 26 years works out to an income stream of
7.576923 million dollars per year.

If the interest rate is 6%, compounded continuously, we have

26
Present value at 6% = f 7.576923e "% gt = 99.75.
0
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The present value of this option is about 99.75 million dollars. Since this is less than the lump sum payment of 104
million dollars, the lump sum payment is preferable if the interest rate is 6%.
If the interest rate is 5%, we have

26
Present value at 3% = f 7.576923¢ %% dt = 110.24.
0
The present value of this option is about 110.24 million dollars. Since this is greater than the lump sum payment of
104 million dollars, taking payments continuously over 26 years is the better option if the interest rate is 5%.
(b) Since the winner chose the lump sum option, she was assuming that interest rates would be high (above about 5.5%).

7. (a) Solve for P(t) = P.

10 10
100000 =/ Peo’m(m")dt=Pe/ e~ 010t 34
0 0
10
= i ~0.10¢ =P€(—3,678+10)

-0.10 0
= P-17.185.

So, P = $5820 per year.
(b) To answer this, we’ll calculate the present value of $100,000:
100000 = Pl 1000
P ~ $36,787.94.

8. (a) Let L be the number of years for the balance to reach $10,000. Since our income stream is $1000 per year, the future
value of this income stream should equal (in L years) $10,000. Thus

L L
10000 = / 1000e% %"~ gt = 1000 / e %t
1} 0

L
— 20000e%°5L (1- e—o.osa)

= 1000e%95¢ (__1_) o —0-05¢
)

0.05

= 20000¢%%%* — 20000
0.05L —

SO e 3
2

L

201n (%) = 8.11 years.

(b) We want

L
10000 = 2000e™** + / 1000e %55~ gt
0
The first term on the right hand side is the future value of our initial balance. The second term is the future value of

our income stream. We want this sum to equal $10,000 in L years. We solve for L:

oL
10000 = 2000¢% %% + 1000¢*%°* / e~ 005t gy
0

L
— 2000295 4 1000e%0%% ( 1 )e—o.os:
~0.05 .

2000e%93% + 20000e%°%L (1 _ e—o.osl,)
= 2000e%%% + 20000e* %% — 20000.

So.
22000¢%%%* = 30000
0.0sz _ 30000
22000

L=20In i—‘l) 2= 6.203 years.
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You should choose the payment which gives you the highest present value. The immediate lump-sum payment of $2800
obviously has a present value of exactly $2800, since you are getting it now. We can calculate the present value of the
installment plan as:
PV = 1000e~ %" 4 1000~ **™") 4 1000e~ %0
=~ $2828.68.

Since the installment payments offer a (slightly) higher present value, you should accept this option.

(a) We calculate the future values of the two options:

EV, = 6e%1® 4 26%1(2) 4 9g0-1(1) | 9,0.1(0)
=~ 8.099 +2.443 + 2210+ 2
= $14.752 million.

FV2 — e(').1(3) + 260.1(2) + 460.1“) + 660.](0)
= 1.350 + 2.443 + 4.421 + 6
= $14.214 million.

As we can see, the first option gives a higher future value, so he should choose Option 1.
(b) From the futurc value we can easily derive the present value using the formula PV = FVe™"". So the present value is

Option 1: PV = 14.752¢%"* x $10.929 million.

Option 2: PV = 14.214¢*'"* x $10.530 million.

At any time ¢, the company reccives income of s(¢) per year. It will then invest this money for a length of 2 — t years
at 6% interest, giving it future value of 3(t)e{®°82=*) from this income. If we sum all such incomes over the two-year
period, we can find the total value of the sales:

2

2 2
Value =/ s(t)e(o'osm_')d( =/ [506"6(0'06)(2_”] dt
0 0

2
20, 0.12—1.06¢ —53.1838

[

2

= $46.800.
0

Price in future = P(1 + 20+/%).

The present value V" of price satisfies V' = P(1 + 20v/t)e %9,

We want to maximize V. To do so, we find the critical points of V(¢) for t > 0. (Recall that /% is nondifferentiable at
t=0)

C“" 20 —0.05¢ = —0.05¢
—_— = —_— —0.0:
o P [2\/;6 + (1 + 20V1)(-0.03¢ )

s | 10 .
= Pe™®0% | = _0.05 - Vi .
Vi

s
Setting % = 0 gives 170t —0.05 -Vt=0. Using a calculator, we find ¢ = 10 years. Since V'(¢) > 0for0 < ¢ < 10

and V'(t) < 0 for t > 10, we confirm that this is a maximum. Thus, the best time to sell the wine is in 10 years.

(a) Suppose the oil extracted over the time period [0. Af] is S. (See Figure 8.46.) Since g(t) is the rate of oil extraction,
we have:

A M M
S= / aydt= [ (a—bt)dt = / (10 — 0.1t) dt.
0 1] 0

To calculate the time at which the oil is exhausted, set § = 100 and try different values of M. We find M = 10.6
gives

10.6
/ (10 = 0.1¢) dt = 100,
)
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so the oil is exhausted in 10.6 years.

Extraction Curve

9(?)

is the total oif extracted

Figure 8.46

(b) Suppose p is the oil price, C is the extraction cost per barrel, and r is the interest rate. We have the present value of
the profit as

M
Present value of profit = / (p— C)q(t)e™""dt
°

+10.6
= / (20 — 10)(10 — 0.1t)e ™% dt
0
= 624.9 million dollars.

14. One good way to approach the problem is in terms of present values. In 1980, the present value of Germany's loan was
20 billion DM. Now let's figure out the rate that the Soviet Union would have to give money to Germany to pay off 10%
interest on the loan by using the formula for the present value of a continuous stream. Since the Soviet Union sends gas
at a constant rate, the rate of deposit, P(t), is a constant ¢. Since they don't start sending the gas until after 5 years have
passed, the present value of the loan is given by:

20
Present Vulue:/ P(t)e™"" dt.
5

We want to find ¢ so that

ket oc
20.000.000.000 = / ce THdt = c/ et dt
5 5

b

—0.10(3
= ce—0-1005)

5

= ¢ lim (—10e~%!%)
b— oo

23 6.0065¢.

Dividing, we see that ¢ should be about 3.3 billion DM per year. At 0.10 DM per m? of natural gas, the Soviet Union
must deliver gas at the constant, continuous rate of about 33 billion m® per year.

15, price
(1000s of doflars/car)

1050

(350, 560)

quantity
(number of cars)

Measuring money in thousands of dollars, the equation of the line representing the demand curve passes through (50,

980) and (350, 560). So the equation is y — 560 = <2%(z — 350). i.c. y — 560 = — Lz + 490.
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The consumer surplus is thus

350 7 - 350
/ (—g.r + 105()) dz — (350)(560) = ~ ]—‘61?2 + 1050z — 196000
0 h [}

= 85750.

(Note that 85750 = 1; - 490 - 350. the arca of the triangle in the diagram. We thus could have avoided the formula for
consumer surplus in solving the problem.)
Recalling that our unit measure for the price axis is $1000/car, the consumer surplus is $85,750,000.

16. Price

S(q)

l 1
| 1
1

Ag Aq Agq q°

Quantity

The supply curve, S(gq), represents the minimum price p per unit that the suppliers will be willing to supply some
quantity g of the good for. If the suppliers have ¢° of the good and ¢° is divided into subintcrvals of size Ag, then if the
consumers could offer the suppliers for cach Ag a price increase just sufficient to induce the suppliers to sell an additional
Ag of the good, the consumers’ total expenditure on g~ goods would be

nAg+p2iAg+--- = Zp;iq.

-

q° q
As Ag — 0 the Riemann sum becomes the integrai / S(g) dq. Thus / S(q) dq is the amount the consumers would

0 0
pay if suppliers could be forced to sell at the lowest price they would be willing to accept.
17.

q° q° q°
/ (b — S(4))dq = [ P dg - / S(g)dq
0 0 0
.
—pq - / S(q)da.
0

Using Problem 16, this integral is the extra amount consumers pay (i.c., supplicrs earn over and above the minimum they
would be willing to accept for supplying the good). It results from charging the equilibrium price.

18. (a) p"q" = the total amount paid for ¢~ of the good at equilibrium.

price

Supply = S(q)

Demand : £){q)
Quantity

q°

(b) f;. D(q) dg = the maximum consumers would be willing 1o pay if they had to pay the highest price acceptable 10
them for cach additional unit of the good.
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Supply : S(q)

Demand : D(q)
quantity

(c) foq- S(g) dq = the minimum supplicrs would be willing to accept if they were paid the minimum price acceptable to
them for each additional unit of the good.

price

Supply : S(q)

Demand : D(q)
quantity

Supply : S(q)

Oemand : D(q)
quantity

() pq” - foq‘ S(g) dq = producer surplus.

price

Supply : S(q)

| Demand : D(q)
L quantity

(3] f:v (D(q) — S(q)) dq = producer surplus and consumer surplus,
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Supply : S(q)

Demand : D(q)
quantity

p (price/unit)

q (quantity)

Figure 8.47: What effect does the artificially high price. p*, have?

(a) A graph of possible demand and supply curves for the milk industry is given in Figure 8.47, with the equilibrium

(b)

price and quantity labeled p* and ¢ respectively. Suppose that the price is fixed at the anificially high price labeled
p” in Figure 8.47. Recall that the consumer surplus is the difference between the amount the consumers did pay
(p™) and the amount they would have been willing to pay (given on the demand curve). This is the area shaded in

Figure 8.48(i). Notice that this consumer surplus is clearly less than the consumer surplus at the equilibrium price,
shown in Figure 8.48(ii).

()  Artificial price (i)  Equilibrium price
p (price/unit) p (pricefunit)

i consumer
pt surplus
p* ,
lf
g (quantity) - q‘_ - > g {quantity)

Figure 8.48: Consumer surplus for the milk industry

Ataprice of p*, the quantity sold, g™, is less than it would have been at the equilibrium price. The producer surplus
is the area between p* and the supply curve at this reduced demand. This area is shaded in Figure 8.49(i). Compare
this producer surplus (at the artificially high price) to the producer surplus in Figure 8.49(ii) (at the equilibrium price).
It appears that in this case, producer surplus is greater at the artificial price than at the equilibrium price. (Different
supply and demand curves might have led to a different answer.)

(i)  Artificial price (i) Equilibrium price

p {price/unit) . . p (pricefunit)

surplus

producer
surplus

" q (quantity) 4 (quantity)
+ q'

Figure 8.49: Producer surplus for the milk industry
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(¢) The total gains from trade (Consumer surplus + Producer surplus) at the artificially high price of p* is the area shaded
in Figure 8.50(i). The total gains from trade at the equilibrium price of p” is the area shaded in Figure 8.50(ii). It is
clear that, under artificial price conditions, total gains from trade go down. The total financial effect of the artificially
high price on all producers and consumers combined is a negative one.

()  Arificial price (i)  Equilibrium price
P (pricefunit) p (pricelunit)

4 (quantity) g (quantity)

Figure 8.50: Total gains from trade

20, price

Consumer surplus

p
Producer surplus —

quantity

(a) The producer surplus is the area on the graph between p~ and the supply function. Lowering the price also lowers
the producer surplus.

(b) Note that the consumer surplus—the area between the line p~ and the supply curve—increases or decreases depend-
ing on the functions describing the supply and demand and on the lowered price. (For example, the consumer surplus
seems to be increased in the graph above, but if the price were brought down to $0 then the consumer surplus would
be zero, and hence clearly less than the consumer surplus at equilibrium.)

(¢) The graph above shows that the total gains {rom the trade are decreased.

Solutions for Section 8.6

Exercises
1. 9% of population 9% of population having
per doflar of income at least this income
| \
income income
Figure 8.51: Density function Figure 8.52; Cumulative distribution function
2, % of population % of population having

per dollar of income

EEa—— income

Figure 8.53: Density function

at least this income

~—— income

Figure 8.54: Cumulative distribution function
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% of population
per dollar of income

507
% of population having
at least this income

N —

Figure 8.55: Density function

Figure 8.56: Cumulative distribution function

4. Since the function takes on the value of 4, it cannot be a cdf (whose maximum value is 1). In addition, the function
decreases for z > ¢, which means that it is not a cdf. Thus, this function is a pdf. The area under a pdfis 1, so 4¢c = 1
giving ¢ = 4. The pdf is p(z) = 4 for 0 < z < 1, so the cdf is given in Figure 8.57 by

0 for <0
Px)=¢ 4r for 0<z<

da | —

1
1 f -
or J:>4

P(z)

T
1
3

Figure 8.57

5. Since the function is decreasing, it cannot be a cdf (whose values never decrease). Thus, the function is a pdf.
The area under a pdf is 1, so, using the formula for the area of a triangle, we have

1 . 1
§4c—1, giving ¢ = 5
The pdf is .
p(w)=§—%r for 0<z <,
so the cdf is given in Figure 8.58 by
0 for <0
Pz)=¢ Z_I for 0<r<4
(z) 77 16 or 0<zr<
1 for = >4.
P(z)
1
x

4
Figure 8.58



508 Chapter Eight /SOLUTIONS

6. Since the function levels off at the value of ¢, the area under the graph is not finite, so it is not 1. Thus, this function cannot
be a pdf.
Itis a cdf and ¢ = 1. The cdf is given by

for <0
for 0<z<5
for £>35.

P(x) =

—oi g =

The pdf in Figure 8.59 is given by

0 for <0
plry=4¢ 1/56 for 0<r<H
0 for = > 5.

P(z)

—
~
[
35 }

Figure 8.59

7. This function decreases, so it cannot be a cdf. Since the graph must represent a pdf, the area under it is 1. The region
consists of two rectangles, cach of base 0.5, and one of height 2¢ and one of height ¢, so

Area = 2¢(0.5) + ¢(0.3) = 1
-1
T1s T

ot
Wi

The pdf is therefore
0 for <0
43 for 0<r<03
plr) = 2/3 for 05<z<1
0 for z>1.
The ¢df P(x) is the antiderivative of this function with P(0) = 0. See Figure 8.60. The formula for P(x) is

0 for <0
P(z) = 4r/3 for 0L2<05
23+ (2/3)(x—0.53) for 05<z<1
1 for r>1.
P(z)

—

Wi

Figure 8.60
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8. This function increases and levels off to ¢. The area under the curve is not finite, so it is not 1. Thus, the function must be
acdf, not a pdf, and 3¢ = 1,80 ¢ = 1/3.
The pdf, p(z) is the derivative, or slope, of the function shown, so, using ¢ = 1/3,

See Figure 8.61.

0 for £<0
(z) = (1/3—-0)/(2-0)=1/6 for 0<z<?2
PEI=Y (1-1/3)/(4-2)=1/3 for 2<z<4
0 for z > 4.
i+ e
; l
G
p—
1
|
1
i i T
2 4
Figure 8.61

9. This function does not level off to 1, and it is not always increasing. Thus, the function is a pdf. Since the area under the
curve must be 1, using the formula for the area of a triangle,

Thus, the pdf is given by

%-ol:l s0 c=2.
0 for <0
4ir for 0<2<03
plx) = Al AN 4 :
2—-4(x-05)=4—-4z for 05<z<1
0 for z>0.

To find the cdf, we integrate each part of the function separately, making sure that the constants of integration are arranged

so that the cdf is continuous.

Since [ dzdz = 22° + C and P(0) = 0, we have 2(0)* + C = 050 C = 0. Thus P(z) = 2z° on 0 < z < 0.5.
Atz = 0.5. the cdf has value P(0.5) = 2(0.5)> = 0.5. Thus, we arrange that the integral of 4 — 4z goes through the
point (0.5, 0.5). Since f(4 — dr)dr = 4x - 2r* 4 C, we have

Thus

See Figure 8.62.

4(0.5) — 2(0.5)* + C = 0.5 giving C = —1.

0 for <0
2z fi <z<05
P(z) = T . or 0-_1:_00
dr—2r" -1 for 05<z<1
| for z> 1.
P(z)
1
0.5
1 1 T
0.5 1

Figure 8.62
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Problems

10.

11,

12,

13.

14.

No. Though the density function has its maximum value at 50, this does not mean that a large fraction of the population

receives scores near 50. The value p(50) can not be interpreted as a probability. Probability corresponds to area under the

graph of a density function, Most of the area in this case is in the broad hump covering the range 0 < x < 40, very liule

in the peak around x = 50. Most people score in the range 0 < & < 40,

(a) Let P(r) be the cumulative distribution function of the heights of the unfertilized plants. As do all cumulative
distribution functions, P(z) rises from 0 to | as z increases. The greatest number of plants will have heighis in the
range where P(z) rises the most. The steepest rise appears to occur at about = 1 m. Reading from the graph we
sce that P(0.9) = 0.2 and P(1.1) = 0.8, so that approximately P(1.1) — P(0.9) = 0.8 — 0.2 = 0.6 = 60% of the
unfertilized plants grow to heights between 0.9 m and 1.1 m. Most of the plants grow to heights in the range 0.9 m to
1.l m.

(b) Let P4(x) be the cumulative distribution function of the plants that were fertilized with A. Since Pa(x) rises the
most in the range 0.7 m < z < 0.9 m, many of the plants fertilized with A will have heights in the range 0.7 m to
0.9 m. Reading from the graph of P4, we find that P4(0.7) = 0.2 and P4(0.9) = 0.8, so Pa(0.9) — P4(0.7) =
0.8 — 0.2 = 0.6 = 60% of the plants fertilized with A have heights between 0.7 m and 0.9 m. Fertilizer A had the
effect of stunting the growth of the plants.

On the other hand, the cumulative distribution function Pg(z) of the heights of the plants fertilized with B rises
the most in the range 1.1 m < r < 1.3 m, so most of these plants have heights in the range 1.1 m to 1.3 m. Fertilizer
B caused the plants to grow about 0.2 m taller than they would have with no fertilizer.

(a) F(7) = 0.6 tells us that 60% of the trees in the forest have height 7 meters or less.
(b) F(7) > F(6). Therc are more trees of height less than 7 meters than trees of height less than 6 meters because every
tree of height < 6 meters also has height < 7 meters.

For a small interval Az around 68. the fraction of the population of American men with heights in this interval is about
(0.2)Ar. For example, taking Ar = 0.1, we can say that approximately (0.2)(0.1) = 0.02 = 2% of American men
have heights between 68 and 68.1 inches.

We want to find the cumulative distribution function for the age density function. We see that P(10) is equal to 0.15 since
the table shows that 15% of the population is between 0 and 10 years of age. Also,

Fraction of the population

P(20) = =0.15+0.14=0.29

between 0 and 20 years old

and
P(30) =0.15+ 0.14 4+ 0.14 = 0.43

Continuing in this way, we obtain the values for P(t) skown in Table 8.5.

Table 85 Cumulative distribution function of ages in the US

[ 0 10 | 20| 30 [ 40| S0 | 60 [ 70 | 80 | 90 [ 100
P)|l0[0.15])029[043]| 060|074 |084|092097|099]1.00

(a) The two functions are shown below. The choice is based on the fact that the cumulative distribution does not decrease.
(b) The cumulative distribution levels off to 1, so the top mark on the vertical scale must be 1.

1 i
0.8 |:W T I e Cumuiative
o6 . 2 L
0.4 . Density
B ; ]
0.2 7 : ‘ /

2 4 6 8 10

The total area under the density function must be 1. Since the area under the density function is about 2.5 boxes,
each box must have area 1/2.5 = 0.4. Since cach box has a height o 0.2, the base must be 2.
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16. (a) The area under the graph of the height density function p(x) is concentrated in two humps centered at 0.5 mand 1.1 m.
The plants can therefore be separated into two groups, those with heights in the range 0.3 m to 0.7 m, corresponding
1o the first hump, and those with heights in the range 0.9 m to 1.3 m, corresponding to the second hump, This grouping
of the grasses according to height is probably close to the species grouping. Since the second hump contains more
area than the first, there arc more plants of the tall grass species in the meadow,

As do all cumulative distribution functions, the cumulative distribution function P(x) of grass heights rises from 0
to 1 as x increases. Most of this rise is achieved in two spurts, the first as = goes from 0.3 m 10 0.7 m, and the second
as z goes from 0.9 m to 1.3 m. The plants cun therefore be separated into two groups, those with heights in the range
0.3 mto 0.7 m, corresponding to the first spurt, and those with heights in the range 0.9 m to 1.3 m, corresponding to
the second spurt. This grouping of the grasses according to height is the same as the grouping we made in part (a),
and is probably close to the specics grouping.

(c) The fraction of grasses with height less than 0.7 m equals P(0.7) = 0.25 = 25%. The remaining 75% are the tall

grasses.

b

—

17. (a) The percentage of calls lasting from 1 to 2 minutes is given by the integral

o

2 8t
/ p(x) da'/ 0.4e™ % dr = 7" — 7% 2 22.1%.
1 1
(b) A similar calculation (changing the limits of integration) gives the percentage of calls lasting | minute or less as
1 -1
/ p(z)dz = / 046 % dr =1 - 7% = 33.0%.
0 o

(¢) The percentage of calls lasting 3 minutes or more is given by the improper integral
) b
_— “ . p— 2 p— 4 —_ 9
p(z)dz = lim / 0.4¢” " dr = lim (e — e ") = 7 = 301%.
3 b= 3 b—oc

(d) The cumulative distribution function is the integral of the probability density; thus,
h h
C(h) = / plz)dz = / 0.4e” " dr =1 -7 %,
0 0

18. (a) The fraction of students passing is given by the area under the curve from 2 to 4 divided by the total area under the
curve. This appears to be about %
(b) The fraction with honor grades corresponds to the area under the curve from 3 to 4 divided by the total area. This is
about 3.
(¢) The peak around 2 probably exists because many students work 1o get just a passing grade.

(d) fraction of students
14

1 + +  GPA
1 2 3 4

19. (a) Most of the earth’s surface is below sea level. Much of the earth’s surface is either around 3 miles below sca level or
exactly at sca level. It appears that essentially all of the surface is between 4 miles below sea level and 2 miles above
sea level. Very little of the surface is around 1 mile below sea level.

(b) The fraction below sea level corresponds to the area under the curve from —4 to 0 divided by the total area under the

curve. This appears 10 be about 3.
oo

20. (a) Wec must have Ff(@)dt = 1, for even though it is possible that any given person survives the disease, everyone

o
/ cte¥dt = 1.
0

0
cventually dies. Therefore,
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Integrating by parts gives

As b = oo, we see
/ ce™Mit= S =1 so c=k%
0 k2

(b) We are told th'dl/ F{t)dt = 0.4, 5o using the fact that ¢ = k? and the antiderivatives from part (a), we have

/ e tdqr = (——t,‘“ i')e—kt)
. 2

— ke — e =04

5

o

s0
Ske™>* +e7%* = 0.6.
Since this equation cannot be solved exactly, we use a calculator or computer to find k = 0.275. Since ¢ = k?, we
have ¢ = (0.275)% = 0.076.
(c) The cumulative death distribution function, C(t), represents the fraction of the population that have died up to time
t. Thus,

t

t
C(t) = / Kre iz = (—ka:e_kz - e—k’) |0
0

=1-— kte ™™ — %,

Solutions for Section 8.7

Exercises

1.
p(x)

024 -

2 I (tans of fish)

-

Splitting the figure into four pieces, we see that
Area under the curve = 41 + o+ Az + Ay
= —(0 16)4 + 4(0.08) + - (0 12)2 + 2(0.12)
= l.

x
We expect the area to be 1. since / p(z)dx = 1 for any probability density function, and p(z) is 0 except when

-2

2<r<8.
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x0
zp(z)dz. In the fishing example, p(x) = 0 except when 2 < r < 8, so the mean is

8
/ zp(z) dzx.
2
Using the equation for p(z) from the graph,

8 6 8
/:cp(r)d;r:/ a:p(z)d:r-i-/ zp(z)dr

6 8
/ r(0.04z) dr + / r(—0.06z + 0.6) dr
2 6

8

2. Recall that the mean is /

-0

6

0.04z3
= 2| +(-0.022% +0.377)
3
2 6
2 5.253 tons.
3. (a) 0 p {ii) p(z)
1 1
Verd V= [
1
2V 2r
1
3v2x p=4
p=>5
«— u==6
1 L ] I
5 456

(b) Recall that the mean is the “balancing point.” In other words, if the arca under the curve was made of cardboard. we’d
expect it to balance at the mean. All of the graphs are symmetric across the line = py, so g is the “balancing point”

and hence the mean.
As the graphs also show, increasing o flattens out the graph, in effect lessening the concentration of the data near the

mean. Thus, the smaller the o value, the more data is clustered around the mean.

Problems

4. (a) Since d(e™")/dt = ce™°', we have

6
c/ e di = —e ! z =1-e%=0.1,
0

SO 1
=g In0.9 = 0.0176.

(b) Similarly, with ¢ = 0.0176, we have

12 2
c/ e dt = —e~
6
6

=e % — 7% = 0.9 - 0.81 = 0.09,

so the probability is 9%.
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5. (a) We can find the proportion of students by integrating the density p(z) between & = 1.5 and r = 2:

2 3
/ r dr
1.5 1

P(2) - P(1.5)

! ?
T 16
1.5
_ @ 0t
=6 6 = 0.684.

so that the proportion is 0.684 : 1 or 68.4%.
(b) We find the mean by integrating x times the density over the relevant range:

2 3
Mean =/ r (I—) dr
o 4
T4
x
= — dr
I

x”

20
o5
= ;—0 = 1.6 hours.

(¢) The median will be the time 7" such that exactly half of the students are finished by time T, or in other words

1 Tars

5=/0 T

1 I4T

2 16“

1T

2716

T = ¥/8 = 1.682 hours.

==
6. (a) Sincc/ p(z)dr = 1, we have
0

o
-— 3
1=/ ae” "1 dr
0

_ @ -0z *_a
T o-0.122° o 0.122°
Soa = 0.122.
(b)
r
P(r) = / p(t)dt
0
T
= / 0.1220 0122 g
0
_ o.werlz =] — gm0
(¢) Median is the x such that
P(x)=1-¢"""% = 0.5.
So e~ %1 = 0.5. Thus,
In0.5

I = ——— 2 5.68 scconds



(d)

7. (a)

(b)

(c)

8. (a)

(b)
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and
o o0
Mean = / 7(0.122)e ™" gz = — f 1 (=0.122¢%1%%%) dz.
0 )

We now use integration by parts. Let u = —z and v/ = —0.122¢™%'?**, Then «' = -1, and v = ¢~ %%,
Therefore,

Mean = —ze™ %27 4 e~ "1 dr = _—— =~ 8.20 seconds.

A 0.122
R T
0.122 P(z)

p(z)

The cumulative distribution function

t
P(t) = / p(z)dz = Arca under graph of density function p(z) for0 <z <t
°
= Fraction of population who survive t years or less after trcatment
= Fraction of population who survive up to ¢ years after treatment.

The probability that a randomly selected person survives for at least ¢ years is the probability that he lives ¢ years or
longer, so

o b
S(t)=/ p(:c)d;rzblim/ Ce “'dr
t —xJy
b

= lim _e—C'b _ (_e—Cl) — e-C(
¢ b= ?

= lim —e™¢*
b=+ 20

or equivalently,

t
=1+ -1)=e"°"
(1]

t t
Sit)y=1- / p(z)dr =1 —/ Ce dr=1+e"
0 0

The probability of surviving at least two years is
S@2)=e"“® =0.70
o
Ine ™ =1n0.70
-2C =n0.7
C = —% In0.7 = 0.178.

The probability you dropped the glove within a kilometer of home is given by

, 1
/ 2¢ P dr = —e | = —¢~ % +1 x 0.865.
o [\

Since the probability that the glove was dropped within y km = foy p(z)dr =1 — e~ %, we solve

1—e =095
e”* =0.05

_ In0.05

y ~ 1.5 km.
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9, (a) Since u = 100 ando = 15:

_5(: 100)

[)(1.‘) = 15\/‘27

(b) The fraction of the population with IQ scores between 115 and 120 is (integrating numerically)

R
p(x)dz = - € a5 T
115 ns 13verm

]a\/ 2 Jy

10. (a) The normal distribution of car speeds with g2 = 58 and & = 4 is shown in Figure 8.63.

52 60 65
p=2>58
Figure 8.63

The probability that a randomly selected car is going between 60 and 65 is equal to the area under the curve
fromr = 60 1o x = 65,

65
Probability = —— | e~ 3*/@%) g1 ~ 0.2685.

4\/ 2 60

We obtain the value 0.2685 using a calculator or computer.
(b) To find the fraction of cars going under 52 kivhr, we evaluate the integral

52
Fraction = e~ (F98Y/32 10 0.067.

1
42w fy

Thus, approximately 6.7% of the cars are going less than 52 km/hr.
11. (a) First, we find the critical points of p(r):

d 1 —2r—p)| _tzz=mi
(HP(I) = — [ e =

o\2w 202
IS
03\/-2—11' '
This implies x = p is the only critical point of p(z).
To confirm that p(x) is maximized at £ = p, we rely on the first derivative test. As —oa—l—me-%ﬁ is
always negative, the sign of p’ () is the opposite of the sign of (z — u): thus p'(z) > 0 when £ < p. and p'(z) < 0
when z > p.

(b) To find the inflection points, we need to find where p’' (z) changes sign; that will happen only when p”(z) = 0. As

d® 1 _z-p? (.r y)'
—_— e 22
&P N [ o? '

™
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p"(x) changes sign when [— (:c_—gﬂi + 1] does. since the sign of the other factor is always negative. This occurs
when
_(m_;sﬂ)_’ +1=0,
—(z—p)? = -o%,
T — p=o.

Thus,z = p+oorz = u—o.Sincep”’(x) > 0forz < p—ogandz > p+oandp”’(x) < Oforpi—o < z < p+o,
these are in fact points of inflection.

(c) p represents the mean of the distribution, while o is the standard deviation. In other words, ¢ gives a measure of the
“spread” of the distribution, i.e., how tightly the observations are clustered about the mean. A small o tells us that
most of the data are close to the mean; a large o tells us that the data is spread out.

12. The fraction of the population within one standard deviation of the mean is given by

(-4

2 2
Fraction within o of mean = ;e" 1205 g,

_e V270
. T 1
Let us substitute w = = so that dw = —dz, and when r = *o, w = £1. Then we have
o o

S | 2 (50 | 2 ' 2
Fraction =/ — 7Ty = e” v ? . odw =/ —e Y .
_e V270 _1 V270 1 V2rw

This integral is independent of . Evaluating the integral numerically gives 0.68, showing that about 68% of the population
lies within one standard deviation of the mean.

13

It is not (a) since a probability density must be a non-negative function; not (c) since the total integral of a probability
density must be I; (b) and (d) are probability density functions, but (d) is not a good model. According to (d), the
probability that the next customer comes after 4 minutes is 0. In real life there should be a positive probability of not
having a customer in the next 4 minutes. So (b) is the best answer.

14. (a) P isthe cumulative distribution function, so the percentage of the population that made between $20,000 and $50,000
is
P(50) — P(20) = 99% — 75% = 24%.

Therefore 5% of the population made between $20,000 and $50,000.

(b) The median income is the income such that half the people made less than this amount. Looking at the chart, we see
that P(12.6) = 50%. so the median must be $12,600.

(¢) The cumulative distribution function looks something like Figure 8.64. The density function is the derivative of the
cumulative distribution. Qualitatively it looks like Figure 8.65.

1 -
P(z)
0.75 |
0.5 p(z)
0.25
0.1 r
s . | s | Ipcomem L : X N Income x
10 20 30 40 50 (in 1000s of dollars) 10 20 30 10 50 {in 1000s of dollars)
Figure 8.64: Cumulative distribution Figure 8.65: Density function

The density function has a maximum at about $8000. This means that more people have incomes around $8000
than around any other amount. On the density function, this is the highest point. On the cumulative distribution, this
is the point of steepest slope (because P’ = p), which is also the point of infiection.
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15. (a) Let the p(r) be the density function. Then P(r) = [ p(z)dz, and from the Fundamental Theorem of Calculus.
p(r) = ‘-f;P(r) = %(l — @24+ 2r+1)e ) = —(4r+2)e " +2(2rt + 2r + 1)e” ¥, or p(r) = 4rfe” 7",
We have that p'(r) = 8r(e™%") — 8r"e~2" = ¢~ 2" - 8r(1 — r), which is zero when r = 0 or r = 1, negative
when 7 > 1, and positive when # < 1. Thus p(1) = 4e~2 = 0.54 is a relative maximum.
Here are sketches of p(r) and the cumulative position P(r):

P(r)

p(r)

(b) The median distance is the distance r such that P(rj = 1 — (2r® 4+ 2r + 1)e™2" = 0.3, or equivalently, (2r® +2r +
1e~?" =0.5.
By experimentation with a calculator, we find that r & 1.33 Bohr radii is the median distance.
The mean distance is equal to the value of ihe integral j;’°° rp(r)dr = zliltlolo j: rp(r)dr. We have that

foz rp(r)dr = fo" 473¢72" dr. Using the integral table, we get

F

/: 4% ¥ dr = [(—%) 4 %(nr?) - %(m) - 11—6(24)] e %

(i}
3

= - [2z3 +32° + 3z + Ij] e .
2 2
Taking the limit of this expression as & — oc, we see that all terms involving (powers of z or constants) - e~ have
limit 0, and thus the mean distance is 1.5 Bohr radii.
The most likely distance is obtained by maximizing p(r) = 4127, as we have already seen this corresponds
tor = 1 Bohr unit.
(¢) Because it is the most likely distance of the electron from the nucleus.

Solutions for Chapter 8 Review.

Exercises

1. The limits of integration are 0 and b, and the rectangle represents the region under the curve f(z) = h between these

limits. Thus,
b

= hb.

b
Area of rectangle = / hdr = hx
0 0

2. The circle 2 + y° = r* cannot be expressed as a function y = f(x), since for every = with —r < x < r, there are two
corresponding y values on the circle. However, if we consider the top half of the circle only, as shown below, we have
2 +y? = r?, ory® = r* — £ and 1aking the positive square root, we have that y = /r2 — z2 is the equation of the
top semicircle.
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Then i
Area of Circle = 2(Arca of semicircle) = ‘2/ r? —z2dr

We evaluate this using integral table formula 30,

=T
2/ Vr2—zx2dr
r=-r

1 r
2 [5 (z\/r'-’ — 22 4+ r? aresin ;)] '
r’(arcsin 1 — arcsin(—1))

(- ()

3. Name the slanted line y = f(x). Then the triangle is the region under the line y = f(z) and between the lines y = 0 and
r = b. Thus,

b
Area of riangle = / f(x)dz.
Jo
Since f(z) is a line of slope /b which passes through the origin, its equation is f(z) = hx/b. Thus,

T _m
0_ 2~ 27

® hr hx?®
Arca of triangle = /0 T dr = BT

4. Vertical slices are circular. Horizontal slices would be similar to ellipses in cross-section. or at least ovals (a word derived
from ovum, the Latin word for egg).

Figure 8.66

5. Each slice is a circular disk. The radius, r, of the disk increases with h and is given in the problem by r = vh. Thus
Volume of slice = mr°Ah = mhAh.

Summing over all slices, we have
Total volume = E whAh.

Taking a limit as Ah — 0, we get

12
Total volume = lim E 7rhAh=/ whdh.
Ah—0

0
Evaluating gives
212

)
Total volume = 777

I
-1
&)
B

(1]
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6. (a)

(b)

(c)
(d)

(e)

Looking at the graph, it appears that the graph of B is above F' = 10 between ¢ = 2.3 and t = 4.2, or for about 1.9
seconds.

Although the total impulse is defined as the integral from 0 to o, the thrust is O after a certain time, so the integral
is actually not improper. From t = 0 to t = 2, the graph of .4 looks like a triangle with base 2 and height 12, for an
area of 12. From t = 21tot = 4, the graph of A looks a trapezoid with base 2 and heighis 13 and 6, for an area of
19. Fromt = 4 tot = 16, A4 is approximately a rectangle with height 5.8 and width 12, for an area of 69.6. Finally,
fromt = 1610t = 17, A looks like a triangle with base | and height 5.8, for an area of 2.9. So, the total area under
the curve of A’s thrust, which is 4’s total impulse, is about 103.5 newton-seconds.

Note that when we calculated the impulse in part (b). we multiplied height, measured in newtons, by width, measured
in seconds. So the units of impulse are newton-seconds.

The graph of B’s thrust looks like a triangle with base 6 and height 22, for a total impulse of about 66 newion-seconds.
So rocket 4, with total impulse 103.5 newton-seconds, has a larger total impulse than rocket B.

As we can see from the graph, rocket B reaches a maximum thrust of 22, whereas A only reaches a maximum thrust
of 13. So rocket B has the largest maximum thrust.

7. Since f(x) = sinz, f'(z) = cos(z). so

ﬂ'
Arc Length = / 1+ cos? z dx.
o

8. We’ll find the arc length of the top half of the ellipse, and multiply that by 2. In the top half of the ellipse, the equation
(z%/a”) + (y*/b%) = 1 implies

y=+b 1—-1—:.
V a?

Differentiating (z°/a®) + (y2/b°) = 1 implicitly with respect to z gives us

SO

21' 2y dy -0
b? dr '

=2z 2
dy T _ bz
dr ~ %., T a?y

Substituting this into the arc length formula, we get

Arc Length = / 1+ b2z d;r
V ay
4.2
=/ IR L P
af(B2)(1 - I3
202
/\/1+ bz ))dz

Hence the arc length of the entire ellipse is

/\/1+ 2(:21‘- ))dr.
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Problems

9. (a)

(b) Divide [0,1] into N subintervals of width Az = . The volume of the i** disc is 7(\/Z7)?Az = =z:Az. So,
VYT mmaz

(c)

10. (a) z

Tout = 1

T
w=1
rin=1- V%

Slice the figure perpendicular to the z—axis. One gets washers of inner radius 1 — /z and outer radius 1.
Therefore,

V= i 1P —s(1-V2)) d
/0(1 (1= Vz)*) dr

=77/ (1—[1 —2vz +z])dx

9 1 5w
|l = — = 2.62.
l=%
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(b) :

Note that z = y>. We now integrate over y instead of z, slicing perpendicular to the y—axis. This gives us
washers of inner radius x and outer radius 1. So

y=t ‘
V= / (z1% — wz”) dy
v

=0

=/ w(1-y*)dy
0

1
o5
- (v-2)
Slice parallel to the base of the cone, or, equivalently, rotate

the line « = (3 — y)/3 about the y-axis. (One can also slice
the other way.) The volume V" is given by

y=3 3 _ 2
/ 7r;t?2dy=/ ﬁ(s——i) dy
=0 0 3

’ 2y Y
n -2+ )d
f(-3e5)u

¥y 3
w (y— 3t ﬁ)
I

= 7.
0
12. (a) Slice the headlight into N disks of height Az by cutting perpendicular to the r—-axis. The radius of each disk is y;
the height is Ar. The volume of each disk is wy*Az. Therefore, the Riemann sum approximating the volume of the
headlight is

0
11,

1%

N N
Z my; Az = Z ug—l'-A:c
i=1 i=1
(b) ,
g
ﬂ/ 2 dr = moz?| =18,
o 1 8 o

13. (a) The line y = ax must pass through (I, b). Hence b = al, soa = b/l.
(b) Cut the cone into NN slices, slicing perpendicular to the r—axis. Each piece is almost a cylinder. The radius of the ith

cylinder is r(x;) = bTT 50 the volume

N b\ 2

vy x (i) Ar.

Lt l

i=1
Therefore, as N — oc, we gel
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14. (a) If you slice the apple perpendicular to the core, you expect that the cross section will be approximately a circle.

— (L

7 g

- - >

/
;
N

B~
< - - e - - >
P
T
™~

\\_—j\‘ _

\

If f(h) is the radius of the apple at height h above the bottom. and H is the height of the apple, then

H
Volume = / =f(R)* dh.
0

Ignoring the stem, H = 3.3. Although we do not have a formula for f{h). we can estimate it at various points.
(Remember, we measure here from the bottom of the apple, which is not quite the bottom of the graph.)

h JoJos]1[i5] 2 [25] 3 [35
fy sz 2123]22]18] 12

Now let g(h) = mf(h)?, the area of the cross-section at height h. From our approximations above, we get the
following table.

h|l © 0.5 1 1.5 2 2.5 3 3.5
g(h) | 3.14 | 7.07 | 12.57 | 13.85 | 16.62 | 13.85 | 10.18 | 4.52

We can now take left- and right-hand sum approximations. Note that Ah = 0.5 inches. Thus

LEFT(9) = (3.14 + 7.07 + 12.57 + 13.85 + 16.62 + 13.85 + 10.18)(0.5) = 38.64.
RIGHT(9) = (7.07 + 12.57 + 13.85 + 16.62 + 13.85 + 10.18 + 1.52)(0.5) = 39.33.

Thus the volume of the apple is = 39 cu.in.
(b) The apple weighs 0.03 x 39 =~ 1.17 pounds, so it costs about 94¢.

Y
n
b

Tout =3+ y

Figure 8.67: The Torus Figure 8.68: Slice of Torus
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As shown in Figure 8.68. we slice the torus perpendicular to the line y = 3. We obtain washers with width dz, inner
radius rin = 3 — y, and outer radius royy = 3 + y. Therefore, the area of the washer is iy, — wrd = =[(3 + y) -
(3 — y)?] = 127y. Since y = v/1 — 22, the volume is gotten by summing up the volumes of the washers: we get

1 1
/ 1271 - 2%2de = 1‘27.'/ V1 -—=z2dz.
-1 -1
But f_ll V1 — 22 dx is the area of a semicircle of radius 1, which is %. So we get 127 - £ = 67° = 59.22. (Or, you

could use
/ V1—z2dz = [w\/l —-z2 4+ axcsiu(a:)] .

by VI-30 and VI-28.)
16. The total mass is 12 gm, so the center of mass is located at ¥ = 5(-5-3—-3-3+2-3+7-3) = }.
17. (a) Since the density is constant, the mass is the product of the area of the plate and its density.

! 1
Area of the plate = / (Vz - x?)dr = (21:3/? - l.1‘3')| =1 cm®,
0 3 3 o 3

Thus the mass of the plate is 2- 1/3 = 2/3 gm.
(b) See Figure 8.69. Since the region is “fatter” closer lo the origin, £ is less than 1/2.

Figure 8.69

(¢) To find Z, we slice the region into vertical strips of width Az. See Figure 8.69.
Area of strip = A,(z)Az = (VT — £°)Az cm’.
Then we have

__Jeide(@de _ [y 2u(VE-at)dr 3 [t 3/2 _ 3 3. 5(2
= Mass B 2/3 _5_/0 2 _'I')dx_§‘2(a

This is less than 1/2, as predicted in part (b). So Z = § = 9/20 cm.

18. Let z be the height from ground to the weight. It follows that 0 < = < 20. At height z, 1o lift the weight Ax more. the
work needed is 2002z + 2(20 — x) Az = (240 — 2x)Az. So the total work is

20
W= (240 — 2z)dz
0
20
= (240x - z°)
0

= 240(20) — 207 = 4400 ft-1b.



19.

20,

21.

22,
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Let r be the distance from the bucket to the surface of the water. It follows that 0 < z < 40. At z feet, the bucket weighs
(30 — %r), where the %z term is due to the leak. When the bucket is £ feet from the surface of the water, the work done
by raising it Az feet is (30 — $2) Az. So the total work required to raise the bucket to the top is

40 1
W= / (30 - —z)dr
JO 4

= (30: - %12)

= 30(40) — %40"’ = 1000 ft-Ib.

40

[

Figure 8.70

Let z be the depth of the water measured from the bottom of the tank. See Figure 8.70. It follows that 0 < x < 13. Letr

be the radius of the section of the cone with height z. By similar triangles, £ = %, sor = %:r. Then the work required

to pump a layer of water with thickness of Az at depth z over the top of the tank is 62.47 (§1)2 Az(18 — ). So the
total work done by pumping the water over the top of the tank is

r 15 P 2
W= / 62.47 (:x) (18 — z)dz
| 3

15
"/ £2(18 — r)dz
0

15

[=2]
o
"=

62.4% (61‘3 — %14)

0

62.47(7593.75) =~ 661,619.41 ft-1b.

1l
Ol Ol Ol

Let A be height above the bottom of the dam. Then

25
Water force =/ (62.4)(25 — h)(60) dh
¢ R\ [
= (62.4)(60) (25/. - %)
= (62.4)(60)(625 — 312.5)
= (62.4)(60)(312.5)
= 1.170.000 Ibs.

0

(a)

9

]
Future Value = / 100e%-10(20-1) g

0
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20
100 / eZe %1% gy
o

20
— 100e? _o.10¢
~0.10 .
2
- 1002; (1 — e~%10(20)y - 56389 06.

The present valuc of the income stream is

20 .
/ 100e %1% gt = 100 (__) o010t
o -0.10 o

= 1000 (1 — e™%) = $864.66.

20

Note that this is also the present value of the sum $6389.06.
(b) Let T be the number of years for the balance to reach $5000. Then

T
5000 = / 100e%19(T- gy
1}

T

- 0.10T ~0.

M =e / e 010 g
0

T
eO.lOT

-0.10
= 10e%19T (1 — ¢~%10T) = 10%°T _ 10.

—-0.10¢t
e 0

So. 60 = 10e%1°T and T = 10106 = 17.92 years.

23, (a) Let’s split the time interval into n parts, each of length At. During the interval from ¢; 1o ¢;4.. profit is earned at
a rate of approximately (2 — 0.1¢;) thousand dollars per year, or (2000 — 100¢;) dollars per year. Thus during this
period, a total profit of (2000 — 100¢; ) At dollars is earned. Since this profit is earned ¢; years in the future, its present

value is (2000 — 100¢;)Ate~ %1 dollars. Thus

n—-1
Total present value = 2(2000 — 100t )e” %1t At
i=0
0 At M
— ; = i
to ty ta t; tiv1 tn

{b) The Riemann sum corresponds to the integral:
M
Present value = / e~ 0102000 — 100¢) dt.
0
(¢) To find where the present value is maximized, we take the derivative of
Y
P(M) = / e~ %2%(2000 — 100¢) dt,
0

with respect to M, and obtain
P'(M) = e~ %1% (2000 - 100A1).
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This is 0 when 2000 — 100M = 0, that is, when M = 20) years. The value Af = 20 maximizes P{M), since
P'(M) > 0for Af < 20, and P'(M) < 0for M > 20. To determine what the maximum is, we evaluate the integral
representation for P(20) by III-14 in the integral table:

20
P(20) = / e~ %191 (2000 — 100t) dt
0
20

= $11333.35.

0

(2000 — 100t) _g.10:

Ao —0.10¢
010 + 10000¢ ]

24, We divide up time between 1971 and 1992 into intervals of length A¢, and calculate how much of the strontium-90
produced during that time interval is still around.
Strontium-90 decays exponentially, so if a quantity Sp was produced ¢ ycars ago, and .S is the quantity around today,
S = Spe~**. Since the hall-life is 28 years, § = e~ 8 giving k = —In(1/2)/28 =~ 0.025.
We measure ¢ in years from 1971, so that 1992 is t = 21.

1971 (t =0) At 1992 (t = 21)
; = —
R 5 =) e

Since strontium-90 is produced at a rate of 3 kg/year, during the interval ¢, a quantity 3:\# kg was produced. Since
this was (21 — t) years ago, the quantity remaining now is (321)e 00218 Summing over all such intervals gives

21
= 49 kg.

. .. 21 -0.025(21—1)
Strontium remainin _0.025(21 — 3e
4 ~ 36-0:025(21=0) 4y _
0 0

in 1992 0.025

{Note: This is like a future value problem from economics, but with a negative interest rate.)

25. (a) Slice the mountain horizontally into N cylinders of height A/e. The sum of the volumes of the cylinders will be

N N = 2
\ 3.5-10°
S artah=Y (2= ) Al
GEUEDY ( 7 +600) '

i=1 i=i

(b)

14400 s N2
3.5-10
Volume = 7| —— dh
/ (¢h + 600>

14400 1
=1.23-10"% ——dh
/400 (h + 600)
14400

=1.23- 10" 7 ln(h + 600) dh

100
= 1.23 - 10" 7 {In 15000 — In 1000]

= 1.23 - 10'  In(15000,/1000)
=1.23-10"71n15 = 1.05 - 10'? cubic fect.

26. Look at the disc-shaped slab of water at height y and of thickness Ay. The ratc at which water is flowing out when it is at
depth y is k,/§ (Torricelli’s Law, with & constant). Then, if z = g{y). we have

Ao ('ﬁme for water to ) _ Volume _ w(g(y))’Ay

drop by this amount Ratc ~ kY
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y
(-1,1) (1.1)
m’w;@(y)
— >/_ Ay
T

If the rate at which the depth of the water is dropping is constant, then dy/dt is constant. so we want

=(g(y)®
ki
]

s0 g(y) = ¢ Yy, for some constant ¢. Since r = 1 wheny = 1, wehavec =landsor = Yy ory ="

= constant,

27. Every photon which falls a given distance from the center of the detector has the same probability of being detected. This
sugpests that we divide the plate up into concentric rings of thickness Ar. Consider one such ring having inner radius r
and outer radius r + Ar. For this ring.

Number of photons hitting fing per unit time = N - Areaof ring = N - 2arAr.
Then,
Number of photons detected on ring per unit time =~ Number hitting - S(r) = N - 2arAr - S5(r).
Summing over ail rings gives us
Total number of photons detected per unit time =~ Z 2aNrS(r)Ar.

Taking the limit as Ar — 0 gives

R
Total number of photons detected per unit time = / 2rNrS(r)dr.
0

28. First we find the volume of the body up to the horizontal line through Q.
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We put the origin at P, the x-axis horizontal and the y-axis pointing upward, and compute the volume obtained by
rotating the curve y = 1 — 42 around the y-axis up to Q. At Q, we have x = 0.1, so

n =1-—40.1°) = 0.96.
Slicing the body horizontally into disks of radius «, thickness Ay, we have

Volume of disk in body &~ =x’Ay = g(l —y)Ay.

(,,_ %)
0

To find the volume of the head, it is easiest to consider the origin at S, the r-axis horizontal, and the y-axis pointed upward.
Then think of the head as the volume obtained by rotating the circle P24y = (0.2)7 about the y-axis. We compute the
volume of the head down to the horizontal line through T, at which point & = 0.1. Thus

Thus,
0.96

0.96
Volume of body up t0 Q = / 1:-(1 —y)dy= = 0.3921.
o

|

(0.1)° + y.° = (0.2)%

So
y2 = —v0.03 = -0.1732.

Slicing the head into circular disks, we have

Volume of disk in head = zr’ Ay = =(0.2* — y°)Ay.

Thus,
0.2 ) ] 13 0.2
Volume of head downto T = f 7(0.2° — " )dy = #(0.2%y ~ J—)
—0.1732 37 o.irae
= 0.0331.

The neck is exactly cylindrical, with
Volume of neck = #(0.12)0.15 = 0.0047.
Thus,

Total volume = Vol body + Vol head + Vol neck
= 0.3921 + 0.0331 + 0.0047
= 0.4299 = 0.43m>.

29, (a) Divide the cross-section of the blood into rings of radius r, width Ar. See Figure 8.71.

-— 3 —

Figure 8.71

Then
Area of ring = 2wrAr.
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The velocity of the blood is approximately constant throughout the ring, s0

Rate blood flows through ring = Velocity - Arca
r N
= — (R’ =7 2mradr.
A nl

Thus, summing over all rings, we find the total blood flow:

2

P, .
Rate blood flowing through blood vessel = Z 4771([{' -7 ) 2=rdr,

Taking the limit as Ar — 0, we get

R
=P 2
Rate blood flowing through blood vessel = / W(R“r - r)dr
0

_ =P R*r? 3 _ri R _ =PR*

Tl \ 2 1/],  8ul
(b) Since \
Rate of blood flow = =PR
8yl

if we take k = wP/(8nl). then we have
Rate of blood flow = kR*.

that is, rate of blood flow is proportional to R*, in accordance with Poiseuille’s Law.
30. Pick a small interval of time At which takes place at time . Fuel is consumed at a ratc of (25 + 0.1v)™" gallons per
mile. In the time At, the car moves v At miles, so it consumes v At/(25 + 0.1v) gallons during the instant Af. Since

v= 5()%, the car consumes

oA 30gg At 50eAt 10t A
25+ 0.1 25+ 0.1 (50:%) T3+ 1)+5t 6t+5

aallons of gas, in terms of the time ¢t at which the instant occurs. To find the total gas consumed, sum up the instants in an
integral:

? 10t
Gas consumed = / ————dt =~ 1.25 gallons.
, G6t+3

31. (a) Slicing horizontally, as shown in Figure 8.72, we see that the volume of one disk-shaped slab is
AV = ardy = ﬂAy.
a

Thus. the volume of the water is given by

Figure 8.72
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(b) The surface of the water is a circle of radius z. Since at the surface, y = h, we have h = az?. Thus, at the surface.

(c)

(d)

32, (a)

(b

~—

z = /(h/a). Thercfore the area of the surfuce of water is given by

a3 77h
A=rr" = —.
a

If the rate at which water is evaporating is proportional to the surface area, we have

dVv

— = -k
dt
(The negative sign is included because the volume is decreasing.) By the chain rule, % = ‘;—X - ;%‘ We know
dv _ zh {1 _ =h
S =Ztand A= Ztso
ghdh kﬂ’_h ivin dh _ k
a dt — o EVINE TN
Integrating gives
h = =kt + ho.
Solving for t when h = 0 gives
’lo
t=—.
k
The volume of water in the centrifuge is #(1?)-1 = 7 cubic meters. The centrifuge has total volume 2= cubic meters,

50 the volume of the air in the centrifuge is 7 cubic meters. Now suppose the equation of the parabola is y = h + br?.
We know that the volume of air in the centrifuge is the volume of the top part (a cylinder) plus the volume of the
middle part (shaped like a bowl). See Figure 8.73.

2 (h+b)

h+b

!

1

Figure 8.73: The Volume of Air

To find the volume of the cylinder of air, we find the maximum water depth. If & = 1, then y = h + b. Therefore
the height of the water at the edge of the bowl, | meter away trom the center, is k + b. The volume of the cylinder of
air is therefore [2 — (h + b)) - 7 - (1)* = [2 = h — b].

To find the volume of the bow! of air, we note that the bowl is a volume of rotation with radius = at height y,
where y = h + bx?. Solving for z? gives z* = (y — h)/b. Hence, slicing horizontally as shown in the picture:

o thb

A+b had
-} -
Bowl Volume = / rat dy = / Y AL dy = my = k) =
b A b 2b N

SE

So the volume of both picces together is [2 — h — b]x +br /2 = (2 — h — b/2)=. But we know the volume of air
should be 7,50 (2 — h — bf2)7 = w, hence h + b/2 = 1 and b = 2 — 2h. Thercfore, the equation of the parabolic
cross-section is y = h + (2 — 2h)z>.

The water spills out the top when i + b = h + (2 — 2h) = 2, or when h = 0. The bottom is exposed when h = 0.
Therefore, the two events happen simultancously.
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Any small piece of mass AM on either of the two spheres has kinetic energy %vaM . Since the angular velocity of the
two spheres is the same, the actual velocity of the piece A M will depend on how far away it is from the axis of revolution.
The further away a piece is from the axis, the faster it must be moving and the larger its velocity v. This is because if AM
is at a distance r from the axis, in one revolution it must trace out a circular path of length 277 about the axis. Since every
piece in either sphere takes 1 minute to make | revolution, pieces farther from the axis must move faster. as they travel a
greater distance.

Thus, since the thin spherical shell has more of its mass concentrated farther from the axis of rotation than does the
solid sphere, the bulk of it is traveling faster than the bulk of the solid sphere. So, it has the higher kinetic energy.

Any small piece of mass AM on either of the two hoops has kinetic energy %ngM . Since the angular velocity of the
two hoops is the same, the actual velocity of the piece AM will depend on how far away it is from the axis of revolution.
The further away a piece is from the axis, the faster it must be moving and the larger its velocity v. This is because if AM
is at a distance r from the axis, in one revolution it must trace out a circular path of length 27r about the axis. Since every
piece in either hoop takes | minute to make 1 revolution, pieces farther from the axis must move faster, as they travel a
greater distance.

The hoop rotating about the cylindrical axis has all of its mass at a distance R from the axis, whereas the other hoop
has a good bit of its mass close (or on) the axis of rotation. So, since the bulk of the hoop rotating about the cylindrical
axis is traveling faster than the bulk of the other hoop, it must have the higher kinetic cnergy.

CAS Challenge Problems

3s.

(a) We need to check that the point with the given coordinates is on the curve, i.e., that

asin®t

.2
r=asin" t, y=
cost

satisfies the equation

3

Y=Ve—z

This can be done by substituting into the compuier algebra system and asking it to simplify the difference between
the two sides, or by hand calculation:

a2 4\3 3 cin®
Right-hand side = {/ (252 0% _ [ _a’sin’t
a—asin®t a(l —sin®¢)
_ \/a3sin6t _\/ai’sinst
"V oacos2t cos2t
asin®t

= = = Left- ide.
ost y eft-hand side

We chose the positive square root because both sin ¢ and cos £ are nonnegative for 0 < t < n/2. Thus the point always
lies on the curve. In addition, when ¢ = 0, x = 0 and y = 0, so the point starts at z = 0. As ¢ approaches = /2, the
value of z = asin? ¢ approaches a and the valuc of y = a sin® t/ cos t increases without bound (or approaches oc),
so the point on the curve approaches the vertical asymptote at r = a.

(b) We calculate the volume using horizontal slices. See the graph of y = /z3/(a — z) in Figure 8.74.

Y

Figure 8.74
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The slice at y is a disk of thickness Ay and radius T — a, hence it has volume = (z — a)?Ay. So the volume is
given by the improper integral

e B
Volume = / x(x — a)’ dy.
0
(c) We substitute
asin®t
cost

d [asin®t 2 sin't
dy = — dt = 3sin® t.
Y dt< cost ) a( s '+coszl d

Since ¢ = 0 where y = 0 and t = =/2 at the asymptote where y — 20, we get

/2 sin't
Volume = / w(asin’t - a)%a (3 sin?t + = ) dt
0

.2
r=asmt, y=

and

cos?t

2
77-(13

=72
= wa® / (3sin®tcos’ t +sin” tcos® t) dt =
0

You can use a CAS to calculate this integral; it can also be done using trigonometric identities.

36. (a) The expression for arc length in terms of a definite integral gives

t 2
A(t)=/ V1 dz2dy = 2LVEHAE
[1]

The integral was evaluated using a computer algebra system; different systems may give the answer in different
forms. Here arcsinh is the inverse function of the hyperbolic sine function.
(b) Figure 8.75 shows that the graphs of A(t) and t* look very similar. This suggests that A(f) = ¢%.

+ arcsinh (2¢)
1 .

100 2 100 A(t) 100 | {y=x2

Lt ¢ - I
10 10 10

Figure 8.75 Figure 8.76

(¢) The graph in Figure 8.76 is approximately vertical and close to the y axis. Thus, if we mecasure the arc length uptoa
certain y-value, the answer is approximately the same as if we had measured the length straight up the y-axis. Hence

Ay =y = f{t) =%

So '
At = £

37. (a) The expression for arc length in terms of a definite integral gives

[ 1\’ _ 2vV/ty/T + 4 + arcsinh (2V/?)
:1(!)—/0. 1+ (m) dr = n .

The integral was evaluated using a computer algebra system; different systems may give the answer in different
forms. Some may involve lu instead of arcsinh, which is the inverse function of the hyperbolic sine function.
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(b) Figure 8.78 shows that the graphs of AA(#) and the graph of y = t look very similar. This suggests that A(t) = t.

y y y
100 1 100 100

Figure 8.77 Figure 8.78

(¢) The graph in Figure 8.78 is approximately horizontal and close to the z-axis. Thus, if we measure the arc length up
1o a certain r-value, the answer is approximately the same as if we had measured the length straight along the z-axis.
Hence

Aty=z =1
So
Aty =t.

38. (a) Slice the sphere at right angles to the axis of the cylinder. Consider a slice of thickness Az at distance z from
the center of the sphere. The cross-section is an annulus (ring) with internal radius r; = a and outer radius r, =
Vr2 — z2. Thus

,
2 2 : N 2 2 2
Areaof annulus = rrg” —@wry =7 (\/ r2 - 1:2) —-wa = 7T(r2 -z —a’).

Volume of slice = =(r° — 2 — a*)Ax.
The lower and upper limits of the integral are where the cylinder meets the sphere, i.e., where z° + a® = %, or

T = %vr?2 — a2, Thus
Jr2-a?

Volume of bead = / x(r® —* —a®)du.

72 a2

(b) Using a computer algebra system to evaluate the integral, we have

Volume of bead = iz ("2 - ‘72)3/- :

3

CHECK YOUR UNDERSTANDING

1. True. Since y = £+/9 — 2 represent the top and bottom halves of the sphere, slicing disks perpendicular to the z-axis
gives

Volume of slice = 7y° Az = 7(9 — ”)Az

-3
Volume = / (9 — 7)) dxr.

3

2. Falsc. Evaluating does not give the volume of a cone 7" h/3:

h L B2
/ a(r—y)dy == <ry - yT) =x (l'h — 7) .
0 - a -

Alternatively, you can show by slicing that the integral representing this volume is foh wri(l — y/h)? dy.
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False. Using the table of integrals (V1-28 and VI-30) or a trigonometric substitution gives

/ aVr2—yrdy = g (y\/r'-’ —y? + rlarcsin (2))
-
0

The volume of a hemisphere is 2772 /3.
Alternatively, you can show by slicing that the integral representing this volume is for =(r® — y*) dy.

“
ar° . .
= T(arcsm] — arcsin0) =

True. Horizontal slicing gives rectangular slabs of length £, thickness Ay, and width w = 24/r? = %2, So the volume of
o H 2 _ 2 . o alis |7 2 _ 2

one slab is 21y/r2 — y2 Ay, and the integral is [ 21\/r2 - y2 dy.

False. Volume is always positive, like area.

False. The population density nceds to be approximately constant on each ring. This is only true if the population density

is a function of r, the distance from the center of the city.

False. Since the density varies with y. the region must be sliced perpendicular to the y-axis, along the lines of constant y.

False. Although the density is greuter near the center, the area of the suburbs is much larger than the area of the inner city,
and population is determined by both area and density. In fact. the population of the inner city:

1 1
/ (10 — 3r)27rdr = 27(5r° = )| = 8=
0 0
is less than the population of the suburbs:
/ (10 = 3r)27rdr = 2r(5r* — %) = 16x.
1 1

True. One way to look at it is that the center of mass shouldn’t change if you change the units by which you measure the
masses. If you double the masses. that is no different than using as a new unit of mass half the old unit. Alternatively. let
the masses be ma . ma, and my located at ;. x9, and 3. Then the center of mass is given by:

_ xyimy + xymy 4 waing
my + mo +m3

Doubling the masses does not change the center of mass, since it doubles both the aumerator and the denominator.
False. The center of mass of a circular ring (for example, a coin with a hole in it) is at the center.
True. The density of particles hitting the target is approximately constant on concentric rings.

False. If the density were constant this would be true, but suppose that all the mass on the left half is concentrated stz = 0
and all the mass on the right side is concentrated at 2 = 3. In order for the rod 1o balance at z = 2, the weight on the left
side must be half the weight on the right side.

False. Work is the product of force and distance moved, so the work done in either case is 200 ft-1b.

True. Displacement in the same direction as the force gives positive work; displacement in the opposite direction as the
force gives negative work.
False. Since the water pressure increases with depth, the force on the lower hall of the new dam is greater than the force

on the upper half of the new dam, which is the same as the force on the old dam. Thus the force on the new dam is more
than double the force on the old dam.

True. Since pressure increases with depth and we want the pressure 1o be approximately constant on each strip, we usc
horizontal strips.

False. The pressure is positive and when integrated gives a positive force.
True. Although work is expressed in an integral, the average value is also expressed in an integral. We have:

: 4
Average value of the force = 4—1—1 / F(r)dz.
- 1

Thus if we multiply the average force by 3, we get ]]1 F(x)dr, which is the work done.
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True. For an income stream P(t) from ¢ = 0to ¢ = M, we have:
A
Present value = / P(t)e™"dt.
0

and

M
Future value =/ P(t)e" Mgy,
0

Since A and r are constant. we can factor out e”* from the integral for the future value to get:
Future value = e“"(Presem value).

Since v > 0and M > 0, this means e”*' > 1 so the future value is greater than the present value.
False. Since p(z) < 0 for x < 0, it cannot be a probability density function.
False. [t is true that p(x) > 0 for all x, but we also need ff; p(z)dr = 1. Since p(z) = 0 for z < 0, we need only

check the integral from 0 to oo. We have

%) .
/ re * dr = lim (—le—rz)
0 b—roc 2

b

1
. 2

. False. The volume also depends on how far away the region is from the axis of revolution. For example, let R be the

rectangle 0 < £ € 8,0 < y < 1 and let S be the rectangle 0 € z € 3.0 € y < 2. Then rectangle R has area greater
than rectangle S. However, when you revolve R about the z-axis you get a cylinder, lying on its side, of radius 1 and
length 8, which has volume 8=. When you revolve S about the r-axis, you get a cylinder of radius 2 and length 3, which
has volume 12. Thus the second volume is larger, even though the region revolved has smaller area.

False. Suppose that the graph of f starts at the point (0. 100) and then goes down to (1, 0) and from there on goes along
the z-axis. For example, if f(z) = 100(z — 1)? on the interval [0. 1] and f(z) = 0 on the interval [1,10], then f is
differentiable on the interval [0. 10]. The arc length of the graph of f on the interval [0. 1] is at least 100, while the arc
length on the interval [1.10] is 9.

. True. Since f is concave up, f' is an increasing function, so f'(z}) > f'(0) = 3/4 on the interval [0,4]. Thus

V1+ (f(2))2 = /1 +9/16 = 5/4. Then we have:

'3
z(l.l:é

4
Arc length = / 1+ (f'(z))%dz > /
Jo 0

False. Since f is concave down, this means that f'(z) is decreasing, so f'(z) < f'(0) = 3/4 on the interval [0, 4].
However. it could be that f' () becomes negative so that (f'(z))? becomes large, making the integral for the arc length
large also. For example, f(x) = (3/4)x — r? is concave down and f'(0) = 3/4, but f(0) = 0 and f(4) = —13, so the
“graph of f on the interval [0, 4] has arc length at least 13.

. False. Note that p is the density function for the population, not the cumulative density function. Thus p(10) = 1/2 means

that the probability ol x: lying in a small interval of length Ar around = 10 is about (1/2)Ax.
True. This follows directly from the definition of the cumulative density function.

True. The interval from r = 9.98 to r = 10.04 has length 0.06. Assuming that the value of p(x) is near 1/2 for
9.98 < £ < 10.04, the fraction of the population in that interval is [} 0" p(z)dz = (1/2)(0.06) = 0.03.

. False. Note that p is the density function for the population, not the cumulative density function. Thus p(10) = p(20)

means that x values ncar 10 are as likely as @ values near 20.

True. By the definition of the cumulative distribution function, P(20) — P(10) = 0 is the fraction of the population
having z values between 10 and 20.

Let us make coordinate axes with the origin at the center of the box. The = and y axes will lie along the central
axes of the cylinders, and the (height) axis will extend vertically to the top of the box. If one slices the cylinders



PROJECTS FOR CHAPTER EIGHT 537

horizontally, one gets a cross. The cross is what you get if you cut out four corner squares from a square of side
length 2. If h is the height of the cross above (or below) the ay plane, the equation of a cylinder is #2 4+ y? = 1
(or k? + r? = 1). Thus the “armpits” of the cross occur where y* — 1 = —h?* = % — 1 for some fixed height
h—that is, out v/1 — h? units from the center. or 1 — v/1 — h? units away from the edge. Each corner square
has area (1 — v/1 — A2)? = 2 — h? — 2¢/1 — h2. The whole big square has area 4. Therefore. the arca of the
Cross is

4-9(2 =R -2/1-h2) = -1+ 41> + 8V1 — k2.

We integrate this from h = —1to i = 1. and obtain the volume, 1":

1
Vv =/ —4+4h% + 81— h2dh
-1
1
1h3 1
[—4h+—4—h—+8~§(h\/l—h2+arc5i11ll)]|
-1

3
8 16
=-84+ - +dr =47 - — ~ 7.23.
377 3 !
This is a reasonable answer, as the volume of the cube is 8, and the volume of one cylinder alone is 27 & 6.28.

2. (a) Let y represent height. and let x represent horizontal distance from the lowest point of the cable. Then the
stretched cable is a parabola of the form y = ka? passing through the point (1280/2, 143) = (640, 143).
Therefore, 143 = k(640)? so k ~ 3.491 x 1074 To find the arc length of the parabola, we take twice the
arc length of the part to the right of the lowest point. Since dy/dr = 2kz.

640 640
Arc Length = 2 V1+ (2kz)ide =2 1+ 4k2z2dx
0

0

The easiest way to find this integral is to substitute the value of & and find the integral’s value numer-
ically, giving

Arc Length = 1321.4 meters.
Alternatively, we can make the substitution w = 2kur:

9 [1280k :
Arc Length = % / V14 w?de
<k Jo

| 1280k
=7 / V1+w?dw
0
1280k 1 1280k 1
wy/ 1+ w? F— —dw
( 0 )TQIV(O V1+w? )

|Using the integral table, Formula VI-29, or substitute w = tan 8]

=%



538 Chapter Eight /SOLUTIONS

1l

(1280k\/—128T) 2%(111|J:+ 1+ a2 lw)
- (12808 /T + (1280R)2) + % (i [1280k + /T (128087

13 )l 4 meters.

w|~ 2] -

(b) Adding 0.05% to the length of the cable gives a cable length of (1321.4)(1.0005) = 1322.1. We now want
to calculate the new shape of the parabola; that is, we want to find a new k so that the arc length is 1322.1.

Since 610
Arc Length = ‘2/ V1+4k2z? da
0

we can find k£ numerically by trial and error. Trying values close to our original value of k., we find
k ~ 3.52 x 10~*. To find the sag for this new k, we find the height y = kx? for which the cable hangs
from the towers. This is
y = k(640)% ~ 144.2,

Thus the cable sag is 144.2 meters, over a meter more than on a cold winter day. Notice, though, that
although the length increases by 0.05%, the sag increases by more:144.2/143 = 1.0084. an increase of
0.84%.

3. (a) Revolving the semi-circle y = V72 — 22 around the x-axis yiclds the sphere of radius 7. See Figure 8.79.
Differentiating yields:

dy -1 F

= = ——

dr 7'2 — ;1:2 Yy

Thus, substituting —x /y for f'(x), we get

Sun‘acuarea—Zﬂ'/ ‘/ +—d:r~27r/ Ve +y?de

=2ﬁr/ dr = 47r°.
-r

Figure 8.79 Figure 8.80

(b) Revolving the line y = rx/h around the «-axis yields the cone. The base of the cone is a circle with area
712, Sce Figure 8.80, The arca of the rest of the cone is

h r2 r2 r h
Surface arca = '27r/ 14 —sdr =2m/1+ 5 —/ zdx
0 h? R\ hJg

—~

o] &
S
[

I
o
=

1+

wl

=1
N
b d

1
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Adding the area of the base. we get
Total surface area of cone = 712 + 7r\/72 + h2.

(c) We find the volume of y = 1/x revolved about the z-axis as & runs from | to 0o. See Figure 8.81,

Figure 8.81

o0 o o 1 bd _1b
Volume:/ 7ry'dx=7r/ ?d:c=7rlim —i:ﬂlim—
1 1 T

b= /1 T b I

=7

1
Thus, the volume of this solid is finite and equal to 7.
(d) Now we show the surface area of this solid is unbounded. We have

oo d 2 o<
Surface area = 27r/ yi/1+ (_y) dr = 27r/ l\/ 1+ id dx
1 v dr 1T T

S 1/ 1 )
We cannot easily compute the antiderivative of = 1+ —. so we bound the integral from below by
x
noticing that

1
o
Thus we see that
*1 b dz b
Surface area > 21r/ —dr = 27 lim — =27n lim Inz
1 I b—oc 1 x b—oo 1

Since In  goes to infinity as & goes to infinity, the surface area is unbounded.

Alternatively, we can try calculating
b
1 1
27r/ -1+ —dz
1 T T

for larger and larger values of b. We would see that the integral seems to diverge.
(e) For a solid generated by the revolution of a curve y = f(z) fora < z < b,

b
Volume :/ wy’ dz
Q

and ,
Surface area = / 2ry/1 + (f'(x))? dz.
a
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The volume and the surface area will be equal if

flz) =21+ (f'(z))*

We find a function y = f(x) which satisfies this relation:

dy 1
/yz
dx
s /
Injy+ Vy2—4| = —+C’
¥+ Vi —4=Ae“/'-’

Notice in the third line we have used the fact that dy/dx > 0. Any function. y = f(z), which satisfies this
relationship has the required property.

4. (a) We want to find a such that [ p(v) dv = lim a N v2e~ ™" /2T gy = 1, Therefore,
T—toc

7
. 9 —mu?/2k
~ = lim / p2e /BT gy,
0

a r—oo

To evaluate the integral, use integration by parts with the substitutions u = v and w’ = ve™™v /2T,

r 21 e—mt 21T e—mv’ 2 J2kT
v e~ RT gy = dv
0 S~ —— ~— —m/kT <L —m/kT
@ u’ u

u,
kTTe—mr“/:?kT + KT e—m1'2/‘2kT dv.

m m Jo
1

o0 A 1
From the normal distribution we know that / Te_" 124z = 5
0 w “

, SO

o0 o "
/ e P dx = -—27[
0 2
Therefore in the above integral, make the substitution z = /v, so that dx = /fFdv, or dv =
T dr. Then
3/2 e

L [* gt g = (AT / /V BT gy

m 0 m 0
Substituting this into Equation 4a we get

1 (_ KIT ety (kT)

a T m ™m 0 2

z/-/\/:Tre_z:/.,d ) —os (m>3/’ E

2

\/27(%)3/2‘ Substituting the values for k, T, and m gives a ~ 3.4 x 1078,

Therefore, a =
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